JAIST Repository

https://dspace.jaist.ac.jp/

Title godooooooodouoooooooouoon
dodooooooooooooo

Author(s) oo, 00

Citation

Issue Date 1998-03

Type Thesis or Dissertation

Text version aut hor

URL http://hdl . handle.net/ 101009/ 862

Rights

Description Supervisor: gg 0O, oooooono, 00

AIST

JAPAN
ADVANCED INSTITUTE OF
SCIENCE AND TECHNOLOGY

Japan Advanced Institute of Science and Technology



O o o o

Joboootbooboobgobobooboboobo
Jobooooboboobobobouobn

oooo 000 00

gobbuogoogooobod
gobobooobooboooonoo

o o

19980 10 160

Copyright © 1998 by Takayoshi TOUYAMA



g g

gboobooggobbooooobbboooobobodooobuooobobooaoo
goboboodgobbbugoouooboobboboooobobbuoooooobboo
gobobooobooboooobobbooobobbbooobbbooooboboobooaoon
gbbogobbbuooobodgbobboooobbbobbbooooobbboood
gobobobobbbbuooobbuoooobobooobbobuoooobbobooo
gobobobbobgbuoooobbooobbboboooobobobuoooobobbbo
gobobooogboboooobobobbooboobuobobobuooouobobooon
gbbbooobobobodobbboooooboboobbbooobobbobao
OO00b0oobobOoooooocCuddlerd00O0O0O0DOOODODOO LegPpPOOOODOO
OOoooboboooooooboooobobooooboooobobboboouobDbODn LogPQ
O0000O0LegPQULUOO0DOO0OODOOOOOOODOODODODODDODODODO
O00b0b00o0ob0bo0b0UbLegPhQUUiUooooboboobooboooboobonDg
OOoboogoocM-5000000000000000LegPQODODOOODOOODOODO
gboboboogbbbooooobbuooobobbbooobboboooon
gbobogbbuoobdooboogogbboooboobobooboobbboobd
goboboboooggoooboboboobbooooboboobooobobobooo
gbobboodgbbbboodoobbuoooobbbuooooobouoooobobbood
gbobobboogobbbouooobbuoooobbobobobobbbuooobiboobo
guogggbbuooggbbbboobbiboobbobobuoooobobuoooooo
gobbobooggobobuoooobobobboooobbbuoooobooobobooo
gboboooogoobbooooobboooobobbooobbboooobobobood
gbbbbooodgobbbuooubuoooobbooooobbbooobbboao
gboboogogboobboboobboboboobbobbooobooobooboon
gbgbobobbogoobobbuoooobboboobbboooobobboooboobo
goobbooobobbboogoobboooooobboooobbboougao



1 00
LI O0O0O0OD0 oo s e
1.2 00000 o0 e
1.3 000000 ..o e

2 J0OO0DbOobOooo
21 DOD00OD0D00OD0O0O0 ... e e e
22 LogPOODO . .. s
221 LogPODOODOODO ... oot
222 LogPODOODOODOO .« ..o oot e e
23 LogPQUDDO . . ..o
24 LogPQUOOOODODO ... e s e
241 0000000 .0 e e e e e
242 LogP OO ODOODOO .« .. oo o e
243 0000000 .0 e s
244 00000000 .. 00t e e e e e e
245 00000000 ..o s
246 O0OO0O0O o e e e
247 0O000000O0ODO .« .00 s
248 LogGPUDODOODODOO ... .. oo oo s
25 OODO « e e

3 LogPQUUDOODODOODOOODOODOODO

N N

co 1 N o &

10
11
11
11
13
13
16
16
18
22
23

24



3.1 LogPQUDODOOODOO . ..o e e e 24

32 D000 GCDOODDOOO « .o e e e e e 24
321 OO GCDOODOOODO ... s 25
322 O00000D0ODOODOOODOO ... 28
3.23 OO0 ..o 31

3.3 00000 GCDOOOOON ... 31
331 00000 GCDOOODODOO ..o it e et 31
332 O0OO0OO0 GGCDOODOOODODOOOOO ... oo 36
333 00000 GCDOOOODOOO ... 38
3.3.4 OO0 ..o e 42

34 DOD0ODOO0OCM- 00000000000 + ..., 43
3.4.1 Cannon O ODOODODOO ... oo oo o st s 43
342 0O0000O0O0OO0ODOODODOODOOOOOOOO @000 .. 43
3.4.3 LogP O LogPQUUDOOODOODOOODOODOODOODO .... 46
344 OO0 ... 49

3.5 OO0 . e e 50

OO00D0ODOO00O0O0DbO0DO0ODbO0OO 52

41 DO0D0DO0ODOO0OOO0OOO0O0O0O0O00 ..o, 52

42 000000000 ... e e e s e 55
42,1 00000000000 ... e e 55
422 00000000000 ..t e 57
423 DOO0000O00O00 ... e e e e 57
424 OO0 ... 60

43 O0O0000O00O00D00O0000 ...t 60
43.1 000000000000 .« ... 61
432 OO0 . e 63
433 O00D00O0DO0OO0OOO0O0O0O0 ... oo, 66
434 OO0 ... e 76

44 O0O0000O0O0O0O0D00O0O000O0O00O0 .« ..t e 76
441 O00DO0O0O0DOODOODOOO0O0O ..o 7

i



442 O0O0O0O0 .00 0 e
443 0O0OO0OOOOOO0OOOOOOOO0DO .00 00000
444 OO0 ..o 00
4.5 OUODO .o e
5 Ubbbouoobbbboodoboboo
700 I I I P
5.2 UOODOOOUOLODOOOO ..o e
2.1 OOOOOOODODO .o o e
222 UOO0ODOOOOODO ..o oo
.23 0U0ODLOOOOO0ODOOOOODODD oo
524 UO0ODOOOO0ODLODOOOO ..o
.25 ODODO oo
53 UDOODOUOOODDODOOO oo v s s e
5.3.1 UOO0ODOOOO0ODODO .o oo oo
3.2 U0ODOOOOODOOOOOOn « ..o ..
3.3 UODOOOOODODO .o o
0.3.4 ODODO oo
5.4 UOOODOUOOODODO ..o o
541 ODODODO o oo oo o e
542 OODOOOO ..o s
543 UOO0ODOOOOOO ..o o e
044 ODODO oo
0.5 OOD o o o e
6 U0
6.1 OOODOOO ... e
6.2 OOODOO .o e
6.3 OODOO ..o e
HEN

il

89
89
90
91
93
97
102
104
105
106
108
109
110
111
111
114
117
118
118

120
120
122
124

125



gooo 126

v



O

2.1
2.2
2.3
2.4
2.5
2.6
2.7

2.8
2.9
2.10
2.11

3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8

3.9
3.10

LogP OOOODOOOO .00 e e e 8
I 0 P 9
LogPQODOOOONO ... oo o e e e 11
LoghQODOOOOOOO . .. .ot teeee 12
LogP OOOO LogPQUODOOOOO ..o oo oo v vt o 12
LogPQUDOOOOOOODOOODO .. .o o e 13
200000 (PL,P2)0000OCOO0O(P3)DUOOOOOOOODOOO

OOO0 « .o e e e s e e 14
mO00 000000000000 (m=4) .. .. ... 17
mO000000000000000000 (m=4) .. ... . 17
LogPQUDO OO RQUOO . . .o 19
LogPQUUODODODOO .. oo oo 20
00 Chor-Goldreich OO D OOO . . .. oo 0000000 26
LPRAMUOODOOOOOO Chor-Goldreich OO DO OOOOOoobogoog ... 30
Brent-Kung DO O OO0 ..o oo 00000 o s 32
I I 35
I 02 D I 1 U 37
LogP OOOODOOOO .00 e e e e e 39

000000000 bO0o0o GCbOUDOOOOO0oOoOO (L=32,0=4,g=8) 40
O0000GCDOOOOOOOOOOO (L=32,0=4,g=8; 0000 :P=84,5=6,

O000:P=101,8=5) . . . o v v v vttt e e e e e e e 40
00000 GCDOOOUO0O0O0O0O0OO0000000 (s=5) « o vvo. .. 41
00000 LO000000 GCDOOODOODODOO0OO0OO (o=4,g=8,s=6) . 42



3.11
3.12

3.13

4.1
4.2
4.3
4.4
4.5

4.6
4.7
4.8
4.9
4.10
4.11
4.12
4.13
4.14
4.15
4.16

5.1
5.2
5.3
5.4
5.5
5.6
5.7

Cannon DO DO OOOOOOOO .o s 45
oboobocMs O 6400000000 Cannon DODODODOOOOOOO

I 47
Cannon OO0 0D0O0OO0O0OOOOOCMMO 64000000 O0OOODOODO

LogP O0OD LogPQUUOUODOODOODOODO ..o oo 50
00000000000 F .00 56
gobbooboouobobobuoooobobobooobboooooog ... .. o8
I I O 59
I I I 0 N 60
gboodbuobooboboobboobooobooboon FO 3000

I I I Y P 62
I I 1 63
OO000 000000 T, . .. oo e 64
O00 T,0 T . oo 65
I I 1 67
I I 1 71
I P 73
gboooooooboobooboobobbobobooboooog .. 75
I I I 1 0 N 77
I 78
0000000000 T, ... e 81
ooobO rFrO0oooooooo07,000v. .00 0o oo 84
gobDooooobnO ... e 93
7000 rOO0OD0O0OD0O0ODO e oo v o h e 93
07000 FFOF'O00000O0Oe0D0OO 0~ 0000000 94
07000 FOOOOOOOeOOODO 000 qeV(TO ... .. 95
07000 FOOOOOOOeOODODO O0LDO0 qeV(T"nT™)0 .. 97
O07000¢00OD0O0O0C0O0 FOODOOOOOe oo oo oo 98

07000 ¢DO0D00000000O0ODDODO FOOOODOOOoooood

vi



58 0 TO0O0O0O!=300000000000 FODO0ODOODODOODOOO

OO F" o 101
59 0TOOO0O0!=20000000000000 FO00000000000O

D000 F" . 102
510 0000000000 T .« .o oot e 103
511 0000000000 . ..ot vt 107
512 000 2000000000 20000000000000000 FOO

000000000 F". ..o 108
513 000 T[4 0 Tt - o oo oo 112
514 00000000000000 .« .o 0ot 114
515 000 G[;,) 00000000000+ v v v e et 116

vil



O

3.1 DO0O0OD0O CMbHUO LogP ODOO LogPQOOOODOOO o0 oo oo

41 000 ~0000000D000000DO00000O0ODOO0O00LO
42 0O000O-n0000000O000DO0OODOOOOOOOOOOLODbOOODOO

viil



10

L O

1.1 00000

19400 0000000000 ENIACOODOOOODOOODOOODODODOOODODOOO
ooooodOooOooooocoOoO0oUoooooooUoOoooooDooooOoOoooboOoo
ooooooooboooooO0oboooooooooobooboobobOOoooooDOObbDO
ooo0o00o00o0oooooooo0oOooooooOooo0oooooooOoooOoooon
oo0oo0o0ooooooo0oOooOooooooooOooOOoOoooooooOboOooo
oo0oo0OooooooooooOoOooooooooooooOooooooDoo

O0O00000000oooO00000000o0oooOobOOO0b0OoOob0OoOobooobOooo
ooooOoO0ooooooooooOooobOOoooOooooOOOobobo0oooooooboobooboOoo
O0OO0000ICOLsSIovLsIguLSIooooooooooooooooooooooon
ooooo0OoooooooooOoOoooOooDOOOO0OooooooOCOoOOoOoOoboDo
oo0oo0ooooooodoooOoOoOo0ooooooOoooUOooUoooooCooo
OoOoo0o0ooooooooobooOooooooooobobooboOoooooon

OO00oooooooooobsooooooooooooboooooboooeononon
064000000000 ILLIACIVOODOOODODODOOOODODOOOOOOO0O0OO
OO0000000odoooooooooo0ooooooooooooooogoooooGd
0000000000000 0000D0OWSI(Wafer Scale Integration) 00000000
OoooooooooOOooooOOOb0O0000O0ooOOoOoOOObOOO0O0O0OOb0DbDO0
ooooo0ooooooooooooooooooOoOOObOOo0ooooobOOooDo



gobodobobooobbobbuoooboooooobboobboooboboobbooo

gbdbboodbbbboodobobbuoodobobbbuooboobboboobbboo
gbobboodbgobouooobbuoooobbbooobbboaooobbbbo
gboboboooobbbuogoobboooobbooooobbbuoooobobbbo
gboobboodgobbbooobooboooooobooooobbobooogbobbao
goobobodddbooboooobbuoooobobbuooobobobooboboboon
gbbobooabobbbouoooobbuoooobbboooubobuoooobbboo
guobboboooobbbuoooobooobouoooobbbooooobobabo
gobboodgobbbuoooobboooobboboooobobboooobobboo
gooboogobooboogo

gbobboodbbbboodobobbuooobobbbooboobboooubbboo
gboboboggbobobbuooobbuoboooobobbobobuoooobbboo
gboboboogbbbbouobobooooobbbooobbbobooobiboobo
guogoogbbobtbouooobbboooooobobboobobooooooan
goboboogobobbouooooobooooboboobboooboboboooobbboo
gbbbooouobboodgbbboodo

gbobboodgbgbbooogobbouoooobbobouobbooboobobban
gbooboogbobobobooobboooobbbobouobobobuoooobbboo
goon

1.2 0JO0O0O0O0

gboboboogbbobbuooobobbodgoobbbuooobobooooboboboo
goboboooobobbooooobboooobbbobobobobobobooboobbboo
ooooooob0oboooobbob0o pPRAMODODDOOOOOODOODODDDODO
OO00000D0000000O0MehlhornOD 19840 00000000000 MPCDO
000000 0OKmuskal OO 1986 0000 00OO0O0OO0O0OOOO0OOO0O bCM O
OOoobobOdO0OCeledd 19890 000000O0O00O0OOODO APRAMOUOOOODODO
O0Agearwal 00 1989 0000000000 0O0O0OO0OOOODOODOOOODOOODOO
o000 LPRAMOOOOOODOODODDOOOOOOOODOD BPRAMODODOODOODO
O O Vaidyanathan 00O 1992 000000000000 MPRAMOOOOODODOOO

2



OO0 BSPOOODODODODODODODODOODOOOOOOOOOODOOO0ODOODO0OO00OO0O0o
ooboobooboobooboobobobobobb0obDboobDoobDoobooog
oogod
Culler OO 19930 000000000000O00O000O LegPODODODOOOOOOODODOO
000 RAMO Random Access MachineO OO OO OOOOODOOOOOOOOOO 40
O0000LOoOgOPODOOODOODOODDOODDODODDOODODDOOOODOO
00000000 pooo0ob0obbObUobo00boboUbLegpOO DD ODODODODODO
O0o0obobOoobooobooobooobooboboboooooboboooooobo
O00 LegPhpO000OD0OO0ODOO0ODOOOOOOOODOOOO
O00000000D0000 LegpOODOOODOOODOOODOOLegPOODOOODOOODO
0000000000000 0ouooboobo0ob0bOobOobDUobDOoobUOb0dLogk O
O0000000000000QueneJ0 000000 0OOODOO0OO0ODODODOO LogPQO
O00000D0LegPQUUDDOOODDO0ODOODOOOODOOOOOOLogPQODODOO
goobooococMs 0000000000000 buoobuobDboDbibOUOLegPQOO
0000000000000 0000DO0DO00O00000LegPQUOOOOOODODOO
ooooono
O0oobbbOooooboobooooooooboooboboooDobooooogo
godb0d0ooboooooboob0obooooobobobOooooobooboboooooog
000oboooob0obooboooooooeooooobooooboooooboon
oooobooooooooooboobooobooobooooboboboboooboog
ooooobboboobooooobooooboooboooboobOobobobobog
O0o0obobooooboobooobboobobobooDoooboboooobobog
0000000000000 00O00O0OO0DbO0000b00OD0DOOOdbranch-and-bound
O00000D00000D00000D0D0ODO0D000Oprmal-dual 000000 O0OOODOO
oooooobogoobo
O0ooooboooooooooooboboboboooobobobobboooooo
00000000 oooobObobOooboobOooboobOooooooooooDbo
000000000000 bO00bO0DOO0ODODD0ODODO0O0D0DO0oODOobOOoOobOOooDbOo
O00D00000000D0000 Slater D0 D00O0O0OOOOMorgan D0 198000000
ndO0000000000DO00bO00bO0o0obOOobobDoobDboobOoobDOoOobDOoo



00000 O(») 000000000 0OD00OODOSIater0 1981 000000000000
O0000o0o0oooobobobooboooobboDbbOOMinieka 19850000000
0000000000000 D00000000OoUOooDooO(P®))000o(R)U0LOO
O00bO0bOob00dTamir 0O 19920 00000000000000 pdbOoQoOOO
000000 O0(RDP) 000000000000 0Hakimi OO 1993000000000
goboboooobogobbuogobbooobbooboboobbooobbobooa
gobboodgbobbooooobbuoooobbboooobboboooboboo
gobbbbboooooobbbooooobbbobbobbboooooobobobb
gobbodoogbbbboooooooouoobobuoooooboooooboboo
gboogoboboobbbuoooobboooobooboooobbbuooooboboD

gbobboodbbbdboboobbuoooooobobobbbboobbbbao
gbobobboboboobbuooobbuoooobbbbouoooobobuoooobbboo
goobobobobbbuoooobbobboboobbuooobboboobodgbbbao
gbobobbododgobuobooooboooobooboooobobooogboobobo
gbogbboooboobogogbboooooobooboboobobobbooobbooboo
gbuodboobbooboobooobuobobobboboboobooboaboboo
gbobboobobbogboobobobbooboobbobbobobobbooboobg
gboboboogboboooobbbooobboboboooobbbooooboboboaoo
gobobbogobboboobobbooboobobbboooobobobooooooboboo
gbobboodgbobbbobooobboooobbbooobbbboouoobbbo
gbbboodgobbbouoooobboooobbbooobodobooooobbboo
gbobboodgbobbbuooobouooouobbbobooobbuoooobbboo
gobobobgbobbobooobbuoooobbboooobbbuoooobobboo
gooobgo

1.3 0O0o0ogg

gboboboodgbebbboonoboboon

20000000000000 LegPkQUUDOODOODOODOOOOOOODODOODO
OO000OO0bo0obO0o0oooboobobbobOCulerDO00O0D0ODODOOO LogP
gbobobogabobbbouooobobobobbboobbobbbuoooobbboo



gbooogbboooooobbbbodoobobbodoooobboboooboobouoo
OO0000000000000 LogPQUUODODODDOOOLogP DD OO LogPQ OO DO
OO0DO00bOO00ob0oob0odbLegPQUDbOOODOOODOODOOODODODODOODO
gooboogoobodao
Jogbbooboboobobooobuobbobuo0boobOob0ULegPQd
obooodboobooobooobobobuooobb LPRAMODOUODODO GECDODOO
Obob00oob0ooboobooboboboobooboobboobbo0o0bD0boOLegPQOO
ooooooo GCbobooobobobobobobobobobobobobooboo
UbhobooooboooboobocoeM-5000000000D0LogPQOOODO LogP O
goodobboooobobooobbobboobobbuoooobog
400040d0bbooobuodoboodgboobboboobobbboobooboo
guobboodbuoooooboboobbboooobbboooobobbboooo
gobbobodgbobbboboooobbooooobbouoobbbuooogbbobbo
gboboboodgobobbougoobbooboobbiobodoouoobbooobbobao
gobodgbbuogbobbobboobbooobbooobooouoobbuooobo
gbbboboodgbobbobouooobobbooobbboooobbbooaobbbboo
gboboboogbgobouooobobd
suggdobbbboooooooooboboobbooobobobbbodoooon
gobobbodoogobobooooboobboobboooooobuoboobobobooo
gbbbboodbbobooooobbuoooobbbooobboboooobbboo
gbbbbodoodoobbobbobuodoooboboobbbbooooboboao
gboboboogbobobouboobbbooobbbooobbbouboobbooo
gbobbooogboboboouoboogooboobobboboboooobobobooao
gobobobodoobobbuoooobboooooobboooobobobuoooobobboo
gdo
ceUbooooooboboboogo



20

Juoooudyg

21 0O000OO0OOOOOOO

O000000000o0odooooooooooooooooooooooooon
OO00000000000o0oooooooooooooooooooooooooaon
OO000ODO00000O000bobOOoODOO0bO0o00oDOobO0o0obObObOOoDOoDOoDoOO
00000000000 0000DO0000DO00O000ooDobOoooooooooon
000000000000 00O0D000000000000O000000ooooooag
OO0000000000ooooooooooooooo

O00O000O0Fortune J 0O OOO PRAMO Parallel Random Access Machine [ [
O[000000000PRAMOODOOOO0ODOOOOOOOOOOOOOOOODOO
0000000000 00000000000DO0DbO0O000DO0DO0oOOooDOoooOoO0o
000000000000 00D0O0O000000000000bO000ODOO0oOooOon
O000OMehlhorn OOOOOO0OOOOOO0 MPCOOO [2100000 0Kruskal 00
000000000000 000000 DCMOOO 3000000 Aggarwal 0000
000000000000 00O00OO0O0O0ODOO0O0ODOO LPRAMODODO 400
oooo

OO000d0D000o0oOdoDoooooooooooooooooooooooooon
O0OnCUBE20 CM-5000000000000000000DOODO0OOOODOOOODO
OO000oO0o0oo00ooObOoO0obO00oboOoobO00oOOooO0ooDoboobUobDOooDOoooo
Send-Recieve 00 0O OO [5][6]000 J-Machine0OOOOO0OO0OOOOODOOOO



000000 Message Driven 00000000 [7]0OEicken 000000000000
00000000000 00000D Active Message JO0 OO DOODOO [8]O

gbogbbodbbbbououobbuoooobbbuooobbobuobooobboo
gobboogobbbuogogbboooobboboooobooboogbbboo
gboobooboobuoobuooboobooooobboboboobbobbOono oS
gobobbooobooooooboooobbbooooobobbooooboboboood
gbobboodgbbbboooobobbuobobobbbuooobbb

Culler 0000000000 OOODODOOO LegpO0ODOOOOOO OODDODOOOOO
0 RAM(Random Access Machine) 00 0 0000000000000 O0O0O0O0O0DOOO
gb4000000bbo0oobobobboobbbodoooobbooooboboo
U00bO0b00bobo0d0bLegp O OODODOOOODOOOO0ODOODODODLDO
oboobooboobboobobobooboobooouuDnD LeghO0ODOOoODO
goboboooodgon

2.2 LogP 000

2.2.1 LogP 000000

Logp OO0 OODOO0OO0OOOODODOOODOO0OOLOUOLODODObDOOOOOLbOOn
gobbobbdobdbbdlLeghOOOOObObOOoobbOOo0n LOOODOO
oboob obbobog g0 PO40000000DOODOO 21000
OO000D0O000000oobOon LegPpQUUODOODOOOODODOL OO ODOO
Lroggbodooboboboobobobooobuoboboboooobobooobded
gbooogboobbooooobbobooooobobboooobobobobogbegbd
goobbdoodgbodgbboooobbbooooobbbobobooodgbbooo
gbooobooogbbpPOd0DbOObDODOODLDOODLODODOOODIDODOON
bbb Ly ooobooboobobooboon



Sender time

LogP parameters (L*,o0™*,

Reciever

Recieve M essage

O 2.1: LogPhOODOOODOOO

2.2.2 LogPUOUOOODODOO

CullerO 9|0 00000000000 MPCODCMOLPRAMOOOOOOOOO LogP
U0oooboooobboobobodbobbLegpbODOLDDOODLOODDDO
gbobouboogbbooboboobobosbboubbob oo ooa
goboobboodbouooobboobbdooo bbbobboobboooobbo
LogPUDODDOODOODOOOOODOOO0ODOO0OOOOODO LegPbDDOODDOODOO
U0 LogPUOUODO0ODOO0O0OO0DOODOUOOOLegPO00ODODO0ODOODODODLDO
gboobooobon

gboooogobo

LogP DOOO0OO0OOO0ODOOODOOODDODOOOOOOODOOODOOODDO
gbobobbodgbogbbouooobbuoooobbbouobobbbuooogbbboo
god

gbogddooogoooboobobogbboobuooobooug gboggoboa
Ug=oUU0buoubguoboobboobboobboobboobbobbbdaobd
guogogobuoboooouoogbbboooobbboooobbbuoob oon
gboboboboogbugobouooooobobobobobbobobbooouoobobooon
gbogobboogobbbooobboogbbooobobob boobbobboo
goboooogobbbuoooboboobooooboobobobobuobooooboo
goboobdbobbbuoooobboboobbbooobaobbooboobbboo
UO000U0OUOLegP OO0ODDOOOOOOODODOODOOOOLOOODLOOODLDO



P1

(1) Ffor LogP modell
AWML PP . x=F0O .

R i i ———

(2) Ffor bufFfered model ((LogPQ)

022000000000

gobbbobout gggbobbbbbboobobbutooooooobobbbbod
gbogbobobodgbdgbobooboobbooooobbbbbooobouobobooo
iteration U DD UOOU0OOO0ODOOODODOOODOOODOODODOODOOODDO 2.2
0000000 1000000 20 z1,22,...(z41:= f(z;)) 00000 O0OODOOOOO
O00000000000000O0000 z:=f(x) D000 000000000000
O00000OLegP0000 2:=f(x) 0000000000000 OO0OOOODOOOO
guobboboogbobbbubooooubuoobobbbouooobbbuooogboboo
gbogboogobbbuogoobboooobbbooooboobbobobboo
gobbooboodooboogoobboooobbbuooobbbuoooobobobooo

goooodgd

gbbbooboodgbbbbuoooobbuboboobbobobbobooobbbogo
U000obOobbo0obddLegp 00 O0OO0DLODODODODOOOODODODOOO
gooboboobobooodbobooooonCUBE20D00O0O0O0DOOOODOLO
goboboooobobooooboon



gboooobbobooad

LogP OODODOOOODOODODOODODODOODOOODOOO0ODOOODOODO Lbo
ooboodgbobooooooobgobogobbbooobbbooobboon
godbboobbooobboobbboobuooobbobooooboboobooobo
Logp OO DOOUOOO0OOOOOOO0ODLOOOOOoLObODbOO0OnOd

gbbdbobdodooobuodobboadgbdobol1obobbooobooobodoadg
gobbuouogogbobboboooobobobobboooob bbb googon
O000000mO000000000000000000000 o*=(m—-1)g+o00
dbmO0O0O000O0O0O gbO00obobbobooooobbbooobooboboboon
0000000000000000000000000000 [I0joooooooooo
oboooobd oc*sbbboobobuooooooboobb gboobuobbbogbd
O0000obd oObUODLegpOUUUOLOUOOOODLDDOODLOOODDOODO
gobod

gobdbobooboobobboboodooboobobboobobUobUd LogPQ
goobooodagd

2.3 LogPQOOO

LogPQUUOUOUOUOLogPh D0 DDOO0O0OOODODODOOUODODDODOODOOOODODOOOO
0000000000000 00 2300LegPQOO000O0OOLogPQUIODOODOODOO
O0000000Send QueueO0 O OO OO0ODOOO Recieve Queue OO O O0OOOO0O
O0000000000D00000 Transfer Quene D0 000 0O0O0O0OOOOOOODOO
SQURQUTQU 30000000000 ODOO transferinterval D OO0 0000 OOO
transfer latency 0 0 0 macro capacity U0 OO OO OOO0OO0O000O0O0OOOOOOOO0O
goobooobobboooonod

LogPQUUODO0O0ODODOODODODOODODODOODODOOUDODODOUOODODUODODOD
gboobdobbooboobobbobbo0booboob oo 1o bbbo
gbooboboboobbooboobooobbobboboboboboobooboobbooo
J0b0oo0ooooooobooboobodobobboobooobooboobobobog
goboboboooboobobbooobobbbuooooobo

10



Send side . Communication line 1 Receive side
‘ transfer latency=L
macro capacity=L/g |

Send o] transfer interval=g g 0 [Receive
Processor SQ \ / e RQ Processor
‘ to other ‘ .
Send " processors Transfer : Receive
E— Queue Queue . Queue L

0 2.3: LogPQOOOOOO

2.4 LogPQUUODOOO

2.4.1 0OJO00OO0OOO

LogPQUUOUO0ODLogPp DO ODOO0ODODOODODODOODODOODODOODOODOODO
2400LogPQ OO OD00O0DOOOOODLegPQUIOODOODOOODOOODOODOODLODO
gbobobogobobobbdulggbbboooobl1obooodobbooooooobooao
00000 bOobbo0bodbbOonn Lol DOOD D LogPQUO O OO
U Ll uooooooooon

L=Lo+os+(r—1)-go

o=o09+(r—1)-go (2.1)

g=T-9o0
Oodor-00000000000 w,000000000 w.0000000000L0O0
gbobogdbobuoggbboobbbodteoboobbuogobbbgbdoonbbo
O0O000LbegUOO000b00b0dUdLegPQUUOOOooobboononD m0OQd
gooddbodooob1ooboboogboodbobd n00ODbOo0oboooboooon
o0 POUOLegPO000O0OO0OOOOO0OODOOOO

2.4.2 LogPUOUOOODONO

LogPOOOO0O»mUO0000000D0O0O0OO0OO0ODO0OOLegPQUODOODOOO 2,50
D000 mOO0O0O00000000000DO0O0DO0ODLDODO0 250 LbOgO LogPQ
0000000000000 LegPO00O0DOUOOOOOOOOOO/OOO0OODOOOOO

11



Hardware parameters O(H) °

Sender | time

LogPQ parameters L,o,

0 24: LogPpQUUUOOOOODO

LogPQ parameters (L.o,g9:
time

L | | | |
1 1 1 1
1|ﬂ=4

o> ' L* ' '
. LogP parameters (L*,0%*,¢

O 2.5: LogP OO D00 LogPQUOODOO

OO0000-0000LegPQUOODOOI00000000OO0OODOOOODOOOOO
OO0 -0000000000000000LegPO0DOOD0ODDOODO L*B*Lg*0 LogPQ
gobbobbbdobbuooobbooogo

L=L"+0"—g"(m—1)/m

o= (0" —n)/m (2:2)

g=g/m
000000 0o0o0o00ooo0o0ooo0o0oooOoo0oooooooooooo/o0
oot obooobobbobboudn=00000

Logp OO0 OobbObOOObOD L*Ob0O000 grOO0DbbOO0bbO oo b

bbb oboodoobobboooubbbdoUdg bbb oo
guoodouodouobogbbbb oo uoobobobbbooooooo
gooooooooobbob oo oooooooooobboboooooo

12



0 2.6: LogPQUDOOOOOODOODODO

gboboboogobbbuobobbuooooboboobogo
LogPO0OO0D0OOODOOOOOODODODODOOOOLOOODODODODODODOODO
gobobboog2ubbobbodbboobooobbboououbooooooboo
oboooooooboobobobbboeboobboboooobb200D0000000D0
O00000O0000O00oO0oO0oo220000000 9o

2.4.3 0JU0O0O0OooO

00000 L0000 ooobbboo0b0O0LegP,QOOODOLO OO
gogbbbbboobbbdaboobbeboobobbbbobououobuuoooouadg
ooooorLgobobooobbbobbbgbbbOob0bOo0obooouooon

O26000000000000000 LhyOOOooODOOODODODODOODOOO
oood A0 ROODODOODOOOO0O0OOOO0ODLOOODLODOOOOOOOODODO
00000000000 0000000000D0 (1 =t,4+2L 000000000 t1'x2
gbobobbbobbodobdodtdotbobobbobbutbooooooobbbbbobo
gbbbouoobobobobbbbobdooooonobbbbuoodggboedoogon
gbobogbbbobobodtdgooobbuogbbuoobobooobbooobboobbo
gooboooggad

24.4 UOU0O0O0OOODOO

Oo00oo0 SQuUQUR L O0O0OO0D0OObLObOoOoOoooooDg
LogP 00 0OO0OOOOOOODO |L*/g*|OD0OOOOO0OO0OOOOODOOOOOOODO

13



Time to send data
——

time

[Transfer Queueu.,, S, JransQ

.......
t +

.
Time to recieve data from PL
Time to recieve data from P2

027200000 (P1,P2)00000000(P3)ODO0OO0OOUOOOODODOOOODOO

0000000000000 0O0LegPQUODODODOODOOOD |L/g|ODODODOODOOO
OOoooboooooobooooooonD SQRrQUUODOOOODOODODODDOOD
Oooobobo10bo0oobuobuibDb Legpoooog

000000000000 00O0O00000O000OO0 SEERERLUOODOOUODO /0000
00000000000 »0O0O0O00O0O0O0O0O0O0D0OO0O0O0OO/000O0O000000O0
O0mO0000000000000O000OOOO0/O000ODO0O0OODODOO0OODOO
obhoooobooboobooobooboboboboob SQU rRQUUDOOLODDDOODO
gboobobobogodbbibeobbbbuuboobobbbbbodod bbby
obooboobooooooboobodRQUUIbDOO0DUOO0ODLDOODDODOODO
gbobbobodobobbbobbooodobbooooobbbuoooobbobooad
gobbobooguubbobbooobobobuooooboboboooboobobboboan
guogggbboooogbboboboobbobboooobobobboobobobooooobo
gobobobobobdobbodoooobobobobbooouooobobobooooooooo
gbobboodgbdgbbooooobbdan

LogPpQUUOOODOOODOOOOOOODOODODOODODODODDDODDOOOODD
gbooubuobogbobboooooobobbobooboobboooooobooaobg
gbgogbbobobogboobuouaobbouboboooobboobbooobod
goobooooooboao

14



g27o0pb20000000000000000000 300DbO0000DLOO0ODLDO
gbobobobbdobbdbuoooboooogbbbobobboboooobboobooada
gbbouogogbobobbooobbbbooobooboboooobobobboooaon
goboboogobbbuooogobobboobboboobobogudgoooao
gboooogo

LogPQUUOOOODODOODOOODODOOOO1IDODOOODOOOODDOOD obODODO
OO00000000000OActive Message 0000000000 0OO0OOOO0OOO
gbooboooggbobbobbuouobbbbooobbbboooobbaobo
gobboodgobbouoobobbboooduobouoobobbuoouooboboo
ooooooobMAOODOOODODOOOOODOODOODOODbDOOODLOOOUOODO
OO000O0000000b0obO0bUn LegpQUOOOOOOO0OOODDOOODODODO
O0000000D000000LegPQUOODOOODOODOOODOOODOOOODOOO
gooooo

gobbboooogobobooboobbobuooooobobobooooobob
gobogoooobooobbobooobbobbboobobbbooooobooboboon
gbbboodgobbobooodobuoooobbbbuoobobbobooobbobbo
goodgbbgoobboodgbboobbuooooobbooobboobbuooboboog
gbooobobobobodgobobbuooubouoobooobbooboooobood
gboboobooogobobooooobobboooobboboobbuoboobbobo
goobboodgbobobobooobboobbooobbooobobbbobodobbboo
gobodbbdobobdobdoobobooobobooobobbobuobooobobn
gbobobooobobobbbobbooobbbuoooobbbuobibddl o=10000
goobooobooodao

gboobboobobobboboooobbuoooobobuooobbobuooooobnon

gbbboboodbbobuoooobdobobobbbuooobboboobooobbo
gbobobodgubobuoooobibobooobobobouoooobbobboaob
goboooogoboon

gbooobdbddmb0b0bobb0boud RpRODO0OOOODOOLOODLOOD
UdOm 00000000000 AADO m 000000000000 AROODOOOOO
U0m, 00 ROODDO0ODOO0O0OARUOO0O0O00O000DOOO0O00O0O0O00O0O0O0O0O0DO

15



gobobboooooooobobobobobbobboooobbouoouobobooo
gbuobobuodgboubbdodoboobuoobodgboogbobbobboobobbo
gbooboodgbodboouobbooobobbbuooobobogan

2.4.5 0JUoooood

gz2s0dbbogoobooboboognodboboobobi m-o+ndb0ooonDd
0000000000000 00000000O000000 L+(m—-1)g00O0OODODOO
goodgobogobodadn-gbbbobboobooobooobboooboon
O000 LogPQUOOODOOODOODODOO nOOOODODDODODOD mOODOOOODO

LogPQUUOOOOOOOOODOODODDOODOODLDDbDOODODOLDDOODOOO
goboboboooobboooooboboboooubooobobobobobboboood
gbdbbodoubbuoooobbbooodobbbuoobbbbuoooobbboo
gboogbbobuoooobbbouoooouobobobbbobbbooobobobobo
U0bo0b0o0ooddnCUBE20 CMSOOODDOODOODOJ-Machine OO OOO
O00000oooooo 90

2.4.6 UJUOOOO

g280bbobouogodgboguububooobabbdoboooboobobobo
OO000000000OOLegPODODOODD10000000O0DO0OO0DOOLogPQOODO
gooobooooooobbooob coogobbooooooobbooooooooo g
LogP 000000000 LogPhQUOOUOOOOODODOOOOOOnR =2L*450"4+m(g*—0*)
gobd

goodobobooogbob PIDODO P2PO0mObOO00OOO0DOOOOP200 P1IOO
oo0o0o pPIOO0 P2O0OD0DOO0ODOOOODLOOOODLDOODOODLDDPIOmOODO
gbobobooooooboboboop2b PAOOOODODLDODOOOOOODOODOO 29
gobobdobboobuoodouuobbobbiblLegp 0000 10ogonbg
OO0b00000OO0LegPQOODOODODODOOODOODOOOODOOOOODODODO
O0O0ODLegP OO OOOODOOO LogbQUD DOOOODOODOODO

OO000000LegP OO DODOOODOODOOOD LegPQUODOODOODOOODODODO
O0O000 LegPpQUDUOODODOODOOODOODOO

16



time

% | % | | % |
'\ LogP
.\ parameters
| 3 |
T ‘

Pre-processing Datatransfer Post-processing (synchroniz

‘L*:

2L*+50*+mg*=mo+n
3(L*+20*) +mg*r=(mM-1)g+L

‘ : " Word count
Datatransfer No processing part (nop) ord coun

m=4,
Sender | | | | | e ‘

I

N

Recieveer

028 mO000000000000000 (m=4)

Preprocng Data transfer Post—processing (synchronize)

.0* , L* *

Sender 'q time
LogP
parameters

Reci ever |

[
Pre—pr&cuu ng ord count

r
! Datatransfer Post—processmg (synchronlz\e\sn_4

A

029m000000000000000000 (m=4)

17



2.4.7 Uuoooood

LogPQUUOOOOODOODOOO0OOO0ODOOOO0ODODOON LegpDODDOODODO
gobgbooobobobuooooboboooooboobooooobbuoooooboobooboo
gbobobbdobouooouobbuoooobbbooad

Active Message 10 00000000 DOO0OO0DOOOOODOOOODOODOOOO
gbobogbobobbbuoooobboooobbobooobobuooooboboobbo
gboobobobdoogbbobooobbooboobobobouooobbobooooobooboooo
gboooogbobooooobbbuooobbboooobboobooobobooon
gbbbobooodgobboboooobbbbooooboobboobobooboobo
gbboboooobbbuooobouooooobboooobobuooboobbboo
godbbbobooooogbboboboobbobboooooobbobbooboooon
gbobogboogoobuoooobbooooobobboooobobobooob obboo
000000000000 0oooooo (8o

gboboboodgbbob3stugdobbooooobobuooooon

gboooogd

U 2110a000000000000000O0O00000OODODOOOOODLObODbDOD
gbbbbooodgdgbbboooobbbbooobobbbuoooboobobobaao
gobbobbbbobboooobbboobobobbbooboobbbboobbbad
goboooogogg

gobooboobbboogoobbbuoooobbbuoooooooboboobaoond
gooboooobobooooobooboobbobbooobbbuooooobobogd
oboobooobobboobDoLhoOboboboobobboobooboooooboobo
gobbboodobobuoooobob

gbooogobboogd

Oz2110bhdddboobooooooobooooobooboboobooooobobon
gboooobboboobooboooobobobboboboobobbobbobg
Oooboobobobod Lhbwybooooobooboooboboobooobooobbobo
gbobbooggbbbouooobbbooobobooobbbbouoooboboo

18



From other processor

Recieve |
Queue [e)

[
v Zieaa
[ [
‘

Memory |

Send L T T T ---1
Queue

T o other processors

(1) Without RQ restricting.

From other processor
+

- - WWindowr .
eliminated Nnot recieve

Recieve [7 A T T T T [ T -]

Queue

Memory [ T [ [ T [T T [T T T [ T [ [ ---

Send LI T T ---1]
Queue

v
T o other processors

(2) With RQ restriction.

0 2.10: LogPQO OO0 RQOO

gopboboboobobobooggo
goboboboooboobbooboooboooLlbyboooboboboobgo
gobbobobodobgobobooobbbooooobbouooobbobuoboobbboo
gboogbbodgbbboboboboobooboodboooobobboobogad
goboboodogbbuooob oobooobboboooobbobooooobbbo
gbobobotodogbuooobbuoooobbobooobbbh Lo bbobooba
gbbboboodbgoobobooobouoooobbbooobobbuooooboboo
gobooboooggg

ooobooooooooo Sseboboboboboobooboobouoboooseuoooon
gogobboobgbbboooobobobboooobbouooobobobuoobooboobobo
gobodbbuogdobboodobboooboobbuooobooobooobbooo

gboooodod

gobooboogd
gobogoobbbuoooobooobbbuoobboobbooobobbuoooob
goboooboobobbbooooobbuoooobon

U 2110 cOboouuoobobogouuuuoouboobuoooooooooan

19



From other processors
Recieve i
ouwewe 1 LT T T TP [ ]
l Get the top of Recieve Queue.
Mevory | [ [ | [ [ [ [ [ [ [ [ [ [ [ [ [..]
(a) With no specify.
From other processors
P1 \ P2 \ P3 <- Source Processor |1D
Sl e A B
l %cieve message with processor ID.
Memory | [ | [ [ [ [ [ [ [T [ [ [ [ [ T[-..]
(b) With processor ID.
From other processors
P1 P2 ' P3 <- Source Processor |D
Soees CIL T T JCT T T JCTT T
Jr %ad/Reci eve message with processor ID and tag.
Memory [ [ [ | [ [ [ [ [ [ [ [ [ [ [ [ [-.-]

(c) With processor ID and tag. (on-line motion)

0 2.11: LogPQUOOOOODOO

gobobobdooooooboooboooobboboooobobobbooooobbooo
gobobooobooood
gbooobobbbtboobodboobuooooubooboboboobboboooo
0gooooooboooobbooobobooobooboobobDbobDoobOoobooo
gooboboobobboooooboboobobbooboobbbuoooobobboo
gobobbodoobboooouobobbbooobboobobbbbooooobbod
gbobooobobbooobooobobboooobobuoooobobobooo
O00D000O0OOrecieve OO read OO0 O0OOOrecieve 100 O00O0OOODOOO
00000000000 b0o00bbb0d0b0Uread 000000 DOD0OOODDODO
goooodbooobooobooobodoobobooobbobboobuoobo
goobooobobobuooooboobon
giotogoooggobbooooobobobboobbbuoooubboon 2100 10

20



oddodbogobbboodbbiobUdtdtrecievel D000 0OOLOOOOODOO
o000 ROMO OO0 OOOOooOOobOOoOoboboooobo rROMOOOOODOOO 2.10
2000000000000 RQUDODDOOOOODDRQUOODDODOOOODOO
goboobuooboobooboobobobg windowd OOOQDOOooooooooo
Ub0O0O0oOoboodbrecieve DO O0OOOOOQOOO

bdgdbibgdgbuodbbiddUdlrecieve 00000000 oooobDOO
OO0000ROMO OO0 OO0OOO0OO0OO0OO0O0O0O0ODLOOOROMOODOODOOOOOODO
OO00000000 RQUDOODODUOOODOOOD0ODDOOO recieve00DOOODOOODO
goodbobboogoobbbuooobbboooooboboobooboboooobo
O0bD00b0O00Orecieve UOODOODOOODODOOOOOO0OOOOOOOOODLDODOO
goob

gbooobooooobodad
gobbouooodgobbbbobuooooboobbooobbbbouoboob
gbobobooooboogobboogobbdouoooobbuooooo
gbooboooobooobobobbbb Lyhdouooboobobooobboooobooo
goobbboogbbb oobbbboooobbbooobbbbuooobbboo
gbbooddbboe=10000000000000000000000O01000000
gbbbbooggbboobobobbbooboobobobbooobbbooooouo
gbobooogbbobooobbobbdobbooobbboooobd
goobobobuoooogbobboobbobbobbobooobbobboodao
goobobbogugoobbobobboouoboobobooooboobbobboogoa
gbooboobdobboobboobbbbbobbboobbuooboboobbooo
gobuogubbobuoooobbobooobbbbooodobbooogo
gobbbudogbbouboubbuobooobuooobobooobibobgo
gooboboboobbbdooooboboouobobobooouobobobuobooooboo
gbbboboodbodgbobobooooboobobobbuooooogoooobboao
gbbououobgoboogbbuoooobd
gbobobobbuogooooobboobobbbbobbooboobbbbbobo
gboobbobuoogoooobbbbbbuoooobooobbbbobbobooogao
gobbbobogobobooooobbobooboooobboooobobobooo

21



gbobobooodgbobouoboooooooooboboooobbouooooboboooo
gbbodooogobouogbbbbbbbobobobobobooduboooodb oo
gboboboggo

2.4.8 LogGPUUOUOUOOOO

gbobobobbdbodboboobbobuodbddLegpbbgboboboob b
Alexandov 00000 LogGP OO O [11) D00 0LogGP OO OO0 O200000000
gobbbodgobbboobobbbooobobboboobobbouooooboboo
O0000000D000000 LegGPOODOOOLogP DO DODDOODOODDO L'ODOO
0000 JO0000000 PPOODOOCODODOOOOOOOOO JoO0ODOOODOOO
0000000 0000 50000000000 00000D0O0OO0OO0mMDOODDOO
O0ooo0ooooooooooooooo ¢+ (m—-1)EOo00O000O0O0O0OOODOO
goon

UooboobobO SQURQUTQULUUOUODUOODODO LogPQUUOUODN U LogGP O
U0000000LegPQUOOOOOOLODO LOgUOPORnUODLogGPUOOOOODDOOO
L'+ J/0G@0POJ/MO0000000O0O0O00O0O00O0OOLgPQOOO0ODOODODO
000 JO0000000LegGPOOOUODOOOODOOOOOOO oOOOOOOOoO™
OO0000oooooooooboobboobooobooboObLegPbQOboOooon
OO0O0o0bOO0b0O0OLegGPOOOLO DMAODOOODUOOOOODLOOOOODOOOOO

AlexandovU O OLogGPUOOOOOOOOOOOOOOODOOOODOON OLogGP O
000000000000 CS200000000 [11]0LegGPOOODOODODDODOO
OO000D0000000D00D0ODO LegPhQDODOOOODODODOODOLogPQOODO
0 O Single Node Scatter 0 0 0 0 00 Binomial Tree 00O 000 (1100000000
000000000 DOOBImnomial TreeD OO OOOOOOODODOODOODODODOODOO
Oobooobobooooooooooboboboboobobooboobod all-to-all
OO0D00000000000booobobbOLegP,QUOOooOoonoooooobooOon
gboobooobon

22



25 OO0

ObOOoOdCudler D0 DO0O0D0OO0OOOOODO LogpPODOOODOOOODOOODOODO
gddoddooobooooobooooobbbobobbbbbbbbooobbood
LogP OO DOOOODODOOOOOODOOOOOODOODDODDOOOODDODODOD
gbobbooobbobbooooobbdoooobobobooobon

O00O0OLegPOOO0OOODOODOOOOOODQuened0 00D oooooobDOoO
U000 LogPQUUOUOOODLogPQUUOOOOODOOODOOODOODOODDOODO
gbbbbboboobbobooobbboooobbbouoobbbooooobbobo
gbouboudlgboogoogbbbboodobgbouoogboboogoobgao
gobobobobobobbouoooobooboobbbouoobobooogbobbobo
goobobboogoboboboooooboboooooboobbbooooobobobooa
gboooo

O0O000DoDDO0O000b0000g LegPhQUDOOOO0DDOODOOOOOOLogPQ
goobooboboboobobuobbbbobobobobuobooboboobobo
ODO00000LegPQUUUODODOOOOODODOOODODODODDOUOODOLogPQ
O0O0O0 LegPp OO DOO0OOODOOODOOOOLogPQOODOOODODOODOODDDOO
O0000000000000000000000LegPQO D OO0OO0OODOODOOO
OO0 0000000000 bDDoOODOLegPQUUIDOO LogGPOODODODOODODODO

23



1 30U

LogPQUUOUOOUOOOOODOOODOOO
NN

3.1 LogPQUUIOUOOONO

gbobbbodobbbbooodboobuooobobbuooobbobooobbbobo
ObOooooooboobOobd LegPpQUDO0oobooobobobbooboobObo

Obo0odb cGcOoooobuo rpPrRAMODDOODOOOODOODODDODOOD
gbbbooodboobbooooobbboooobbbboooobooobbboood
OGCDOOOODOOO LegPhQUUOOOOODOOODOOODOOOOODOOOOODOODO
OO0DbO00bO0o0o0ooobbooboobobooobbo0DobobobOLegP,QOOOOm
goboboodogbbougoobboboooobbbooobooobobuooogbbboo
goooobobobob eMsObooboobouooboboboobobboobooboobog
OO000000oboboooo0ooobo0obo0oooooboobobOonDg LegPQODODO
OO000000D00000000 LegP DODOO LogPkQUUUODOOOOOOODOODO
gobobboooooobd

3.2 oo GChbUOOOogn

O0o0o00(GCD)0 0000000000 U0o0UOD EwcdidO0OD0ODOOOOOOO
Uboo0bUdb00Eeehd0 0000000 bOo0oobooo GCbobooooonog

24



00000000000000000000000000,000000000200 a,b
000000000000000 1/200000000000e¢>5000000000
a=a—-b000000=000000000000000000 Brent-Kung(BK) OO
0000 [12]0000BKOO0O0O0O00O0Oeb0000000000000000000
O(n)000000000(R)0000000000000000 O®?)0000
Chor-Golereich(CG) 000 000 [13]00BKOOOOO00000000000000O
0000-™000000000 O(n/logn) 00000000000000000O
0000000000000000000000000000000000000000
0000000000000 PRAMOOOOOOOOO0O000000000000000
0000000000000000000PRAMOOOO000000000000000
0000000000000000000000000000000000000000C0
00000000000000DCMOO0O0 30000000000000000000
00000000000 MPCOOO [2000000000000000000 LPRAM
000 [400000000LPRAMOOOOOOOO0O0O0O0O0O000000000000
0000000000000000000000000000
00000CGOO0D00000000000000000000000LPRAM OO0
000000000000000000000000
000CGOO0O00000000000000C000000LPRAMOOOO0ON
00000000CGOO00O00000000000000000000000

3.2.1 0O GCDOOOOOO
3.21.1 CGUOOOOO

oo GCbUoooooooobo ccUbioobuooBKUObooobobobooboo
gboodgbbogboobooobobuooobobobooooobbooobooboboa
O000000000000000 O(1)0DDbo000 O(legn)D0D0OOODODODODOOOOO
Oo0oo2»00000o0(D000mbO0O0)00000000mM2m0 0000000
0Oo(1)D00000000ooo0o0oO000 kOO0 00ooooooooBKOOO
gobooooboo kb ouoo kOobobbooboobobobboooooooo
gobbooobobbbuoooguooboooodgon

BKOOOOODODOOODOoOoOooOooooboooooBKOOoOOO kODOobooo
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1. 6:=0
2. 00000000 e=00rb=00000000000O
O a:odd,b:even O
Oé>0000
ged(a,b) := ged(a,b/2),6 :=6—1
Oé=0000
ged(a,b) == ged(b/2,a),6 :=6+1
O a:even,b:odd
ged(a,b) :=ged(a/2,b),6 :=6+1
O0a,b:oddO
O (b+a)/2:even0 00O
ged(a,b) == ged(a, (b+a)/2)
O (b—a)/2:even0 00O
gcd(a,b) := ged(a, (b —a)/2)
3.GCD:=la| or |b|

O 3.1: 00O Chor-Goldreich D OO OOO

000000000000-2"<cde,f<2to=1lor—1,-k<g<kDOODODODOO
O0é=a-p00000a,p0 ,b000000000000

a8 =2 a5 | ¢
’ e f (3.1)

b=0-6+¢g

000 kK0000000000000200000000 b0 (k+1)LSBOODOSO00
00 (000§ <k00D0000000J§ <k0000000)00000000000
9224424k +4) 00000000 Chandra000 000 14 00000000000000
0000000002*0000000000000(1)000000000000000 k
000 0(1)00000000000GCDO00000000ND O(r/k)0000000
000000 2% 00000000004%2%0 000000000 O(logk) D000
00000k=clogn/20000000000000000000x 00000000
0000(n/logn) 0000000CGOO000000000000O0O0O0O0O0O0a0
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gooboogobooboogo

3.2.1.2 CcGUOUOOOOOOODO

ccGOoboobooooboooo ccGOobooobobbo 3ioogo BKOoood
ooobdboboboboobooobkbobooobobboobboboobbbobog
obooboobooouoobggés=p—-—cboocGhOooooobboobegg
O000000006>00000600000 (000é<kODOOODOS<kODODODOOO
0)00000000000000 0<Lé<k00000000ODO0DDOOOODOOD 200
Oo00000oOoooOoo0oo0oU0oOoOoOO0ooDOO0OO0 /40000000 0O0O0ODOOO
Oo0o00o<é<LkbOOOOODODOOOOO 1/400000000000000000
Oo0oOBKOODOOOOO pOODOOODLOODOODL CcGUUOOODOO eOODOO
gbbobobobdoobobuoooobbboooobbooooboboooobbboo
goooboooboboboooooboooobobobooobooboooooobDo cGog
OoobbbeUOb0Ob0bOobonOooboooboOong

3.2.1.3 00O0oogon

00 [13] O CRCW(Concurrent Read Concurrent Write) 0 CREW/(Concurrent Read
Exclusive Write) 0 0 0 0 0000000000000 O0O0O0 CRCWOOOODOOOOO
O000obooboooobouobo ckRCwWOoooboooboooooboo LPRAM
gugoooooooood

J0000oobooboobooo0obboodnDOoChor-Goldreich O O Chandra O 0O O 0O
00000000000 OO()OOODOOoO0ODO (14 00000000000000 0/[14]
0000000000000 200000 O(1) 0000000000000 00OOO0O0
Chandra 000 0O0O0O0O0ODOODOOOOOOOO0ODO0OO0OOOOODOOOOOChandra
gogobodoboboodoooouooobbbboooo bbb ooo
O0000o00o0booobboooocM-50000000000000D0D0O0 Single
Program Multiple Data stream(SPMD) 000 [15|00 O(1)D0000O0OQOOOOOO
000000000000 00000O00O (200000) 04000000000 0O0
ggg

J0000000o0o0bb0oo0o0ooooooobb00bab+cd00d0DODOOOO
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gboboboodobobbuobobiobiigbibododbidltpoboboba
O00000000000000000 max(a;,a) 000000000000 ab0 cdOO
00000000000000000000 max(2a,02)00000000a=a-c+b-e
Uéo=é6+¢g000000OO00OOOOOOODOODODO
ooobobooobboobooccUoobboub kLbooboooobonbobeD
obooobooooeCboobooo kbboo3goboobobooooooboobo

3.2.2 0OOO0OOOODOODOOOOO

gbobobobdgbbgobuoooobbouoboboobbboobbboobobbboo
gbobobooobbobgbbobobodobbbooooobbboogoooboood
goobooboobboobogo

3.2.2.1 LPRAMUOOO

OO0 ccUuipbuoobboooboobbooboooob LpPRAMOODODOODOOOOO
gboboboodogboooooobbooogoobbooouooobooogoobobao
gboooouogobobooooboboboooboooboboobboobbood MIMD
OobooooooboooocM-50000 SsepMDODOOOODOOOOODODOODO
oobobooooooseMDOODODOOOOODODOOOOOOOOOOOOOOOO
guobbboogogbboboooobuoooobbbobboobbbuoooobbboo
guogboodgobboboboubdooobboboooobobbooogboobao
gogggbboooobobobobboboboobbbooooboboboooooobo
gbobboodbbbbbooobboooobboboooobbn

Hamildinen O [16][17) 0 OPRAM OO OOCOOOOOO0OO0OO00OODOOOOPRAMO
U0bddbO0OModula2 0000000 0O0ODOO0OOOOOODOODLOLDDODOOD
gobooobbooooobooboooobobboobobobooooboboobooPRAM
gugbbbbdiogooououobbbbouooooooooboboobbobob ooobo
OO0 PRAMUOOOOOODOOOOOOOOODOOOO(DOOOO0O00OO LPRAMO
gboogogbodogodo
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3.2.2.2 JO0OO

00 cGOO0OOOOO0O0O00O(l)ooooo0o0ooUoooooooooood
00000000000000000000000000 (Common access,synchronize)]
(2)000000000000000D00000D0O0 (Localaccess,synchronize)d(3) O O
000000000000 nep000000O0O0OOODO (Local access,nop-synchronize)
gooboooooobobogo

0320 00k000000000000O0O0DO0OOO0OOODOOOUOOOOOOOO
O000oO0oooooo(y)(2)3)ocooooo0ooo0ooooooooooooo
oo0o0bo0oo0o0obobo0oooooboooooDbb oo bboooooobobbo
gooboobooboooobbobooobbbboobobbobbuobuobobbbooa
gobobobooobobobboooobbbooobbbuoooobo

032b)00k0000000000O0DODO0O00O0OCOOOOO0O0OODOAOOOOO
0o0o0bobo0ob0o000ooooo0oddde=20000000000000O00O0O0
o0o0bOo00o0oobobooooobobooooooogo

032(c)0060,990 200000000000 GCDOODOODODOODODODOOOOOO
O0000BKOOOOOOOUOO ! ODOOODOIDODDOOUOOOO nO000 O(n/logn)
000 [13]0000000!=120000000000000 3(a)000000000
0o0o0o0odbobooooobobooooobboooobobboooooDoO

O0000ob00d0Ok=20 k=10000 GCDOOOOOODDOOODDOOODOD k
OO0O0o000obo0odbooobooboooobooobo cGOooooboooooobo
gooboooobooniobbobobbbodudbk0ooo GCboooboobbboooo
00 ko000 obobbbbobdooooobooobbbbobbooooooo
00000000000 bo0be=200000000000 1200000000
O0O0/040000000 kO0DOOODOODODO0ODOODOODOOUOODODOODDOOO
Odrk0000ooooobuooobobooboooboboooboooooboooobo
00000 n=32k=20000000000000 10°000000

00 cGUUUO000nDbooomibooboboooboooboooboboooooDbo
000000000000 CGOOO0O00O00000 (finegrain) 0000000000
gooboboooobobbouoooobboboobobobooobbbooogbobboo
goboboboooooon
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(a) Execution times of making multiply table

T T T T T T T
(1)Common access,synchronize: k=1 —<—
k=2 -x--
1077 (2)Local access,synchronize: k=1 -— 7]
k=2 -4--
= (3)Local access,nop-synchronize:k=1 —<—
S k=2 -o--
S 107 - J
[%]
[}
£
S 1075
5
Q
Q
X
[
10M4
lo/\3 1 1 1 1 1 1 1
1 2 5 10 20 50 100
Latency of accessing common memory (clock)
(b) Execution times of making transfer table
T T T T T T T
(1)Common access,synchronize: k=1 —<—
k=2 -x--
1077 - (2)Local access,synchronize: k=1 —-— 7]
k=2 -4--
= (3)Local access,nop-synchronize:k=1 —<—
g k=2 -o--
o 1076 | ><_
g e
= X
5 1075 ,,_,::::‘Z »»»»»»»» AT .
3 0 e P ST e gmenee
Q
>
[
10M .
10nN3 & N2 s N A4 ) 4
1 2 5 10 20 50 100
Latency of accessing common memory (clock)
(c) Execution times of GCD execution (60,99)
T T T T T T T
(1)Common access,synchronize: k=1 —<—
k=2 -»--
1078 - (2)Local access,synchronize: k=1 -— T
k=2 -4--
= (3)Local access,nop-synchronize:k=1 —<—
g k=2 -o--
S 10M7 - .
(%]
Q
£
& 107
5
[8]
[}
>
[
1075
10/\4 1 1 1 1 1 1 1

1 2 5 10 20 50 100
Latency of accessing common memory (clock)

0 3.2 LPRAMOUOUOOOOOO Chor-Goldreich DO DO OODOOOO
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oooobO cGcUboouooboobnoobbooboooooobobboboobooo
gbbbobdbbobuoooobboobobbboobbbbbuoooobbboo
gboboboogbobbbuoooobbooooboon

ob ccbOuouoooobooboouooboobuooboboboooobboobooo
goboboogbbobbooooboobuoooobbbuooobobbooobobobood
gobobodggd

3.2.3 00O

OO0 cGcOuoooobobo LpPRAMODOOODOODOODOODOODOOODODODOO
ooob ccUubobobooboobobooboobobobobobobbooboUobo
gobobooobobobtooooboobooobobbbooobbbuooooob

3.3 0UO0oooagCbDUOUOOOon

00 Signed Digit U0 OO0 O0O0O0OOO0OOOO0OOOOO GECDOOODOOOOQoO
gobobobogbobbooooboobooobboobobobobooooboboboo
O eGChboOoboooooooooooooon

ooboooooo GCboobobobobooooooboboooobobooobooboooag
Ob0o0odbbooobboobOlLegp U0 DO0OLOO0OO0OOLOOLDOOODLDDO
GCbOooOoOoobDbOoboboboobobooooboobuoobo

3.3.1 0J0O0ob GeCboooood
3.3.1.1 GCDUOOUOOOO

0330 00000000000000000 Brent-Kung(BK)DOOOOO [12]00
oobdb 0000200 A0DBODOODOOODADOOODOOOBKOOOOOODOO
00000000 Oged(a,b) =ged(A,B) 000000000 ¢« OOOOOOOODO
O0o00o000oo0o0do(n)O0O0OO0 GCDOOOOO
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{ INPUT A0B : Ais odd0 B # 00 |A|0B| < 2* }
a:=Ah: =Bl :=0 {a:=nlB:=n}
while b # 0
00 {aisoddd|e| <200 <2°06=a -}
while b is even
O0b:=b20:=6+1 {B:=0-1}
if6>0
00 swap(a,b)d :=—6 { swap(a,f) }
if (b4 a)/2 is even
00 b:=(b+a)/2
else
O0b:=(b—a)/2
GCD:=|a]

0 3.3: Brent-Kung U OO 00O

3.3.1.2 00O SDOOOOOOOOO

gboobooobobobbooooobbouoboobobuooouobobbooonoobooboo
gbbobbbbuguoodaobbdpbdobbbbbtobooodoboobbbboogan
00 a=3"ledD0000 000000 POO0OODO0OO0O00O0000000O
oooooooboobuopb ARO000O00OODODODOOOO RBLOOD0OODOOO
goboooooobooooboooooboobooooboooooboooboD RO Py000
goobooooobogao

gbbbbooodggbobbooobbbooodobobbbuoooobbbdudddae
Doododbdibd 0o obodgdbdbododooood p-100
goboboodgobbbuooooboobobbbbbuoooobbuoooobboao
gooboggd

OD000000 carry save D [18] 0020000000 a = 2P a;d'0b = Y27, bd'O
0s=Y"ysd000<aqlh<2000000 s; =w +c¢i_1(w; = (a; +b;) mod d
Oc; = (a;+b;) divd) 00000000 Ocarrysave 00000 20000000000
goboboogbbobbooobbbooobon
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00 Signed Digit 00 [19]00d >30000—-d < a;[h; <d0ODOO0O0O0O s =w;+¢ 1
O0000000%z =aq+50000z < —d+100 w; = 2z, +dl0c, = —1000
—d+1<z<d-100 w; =20, =002 >d-100 w; = z;—dlk; = 1000 OSigned
Digit DO DOOD0O0ODO0ODO0O0ONe=00000000000¢,=000000000
O0000000DO00D0000D000DODOSigned Digit 000000 O0OOO0OOODOO
oooooo

OO00DOSigned Digit 00 0000000000000 O0OOO0OODODOODOOOOO
O0O000OosSboobooooooo Sbobooooooooono

a= pzl ;28 0h > 10— 21 < q; < 201 (3.2)
=0
000000000000 00000000000000000000000000oao
D0000000000(1)e,000 Ah—I10000000 n,,Ch,,00000000(2)a
0000000000 n, Oy,  00000(3)e;0;000000000030000
000000000 e=-e0000 (1)(2)0000(3)e;=—-000000000 20
O00000e=0000=0000000000000

3.3.1.3 JbOobo GCDUOOOonoog

00 ShO0OO0O00O000O00O00O0 BKOOOOOOOOOOOOOOO GCDOO
000000000000 300000 0000000 A, O000000
BKOOOOOOOO«hOOO 200000000000000000000000
000000 a0 00000000000000000 R, 0000000000000
000000RODODOONOONONONONOO ROODOORO 0KOODODOOODOO
000

000000« O000000000 1000000000000000000000
00 Oa;0 a4 i b, ,000000000000000C0000RO Py 0P,
000000000000000000 RO00O0OOOOCOOOOOAOO0000000
000000000000ROIDOONODOON00OONONOONON0ONONDONONODONN0NOOn
0 k00000000000 00000000 k000000
k000000000000 k000D0kK+2000000000 <MEB0/000000
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00000 [13)0

o 2]

kOOd g;hyUOOOOoLOOOOOO00O0obo0obobOboobb kObboobobon
gboooo

a b] Z j (3.3)

d
Ooobo GeébboooobobogookbbobbboooboooboboonooD Yy =
e f
—2% 0
Dooooogbobooogods=00000Y = gogoosbonogn
0 -1

000000000000000020000000 Z,,000000000%,0 b =0
(0<i<j)00O0000O000

03400p000000000000000000 GCDOOOOOOODOO0O0000O
PO0000 00000000 YOOOOOOOOOO0OO0O000000000 YO
00 Z00000000000000000 n,0,0 PO00000OO00O0O00 Z00
0D000000OpRO00000000 7,0,000000000000000000000
00000000000P (0<j<p—1)0000 A_,00000000 YODOO Z_4
000000000000 Pp00000000 »0000000000000000
P,,0000b=0(Z,,)0000000000000000000000000000
D000O0b=00000000000000000000000000000000 a0
00000000000000000GCDO000000000000000000

0000000000000 000000 P(i>00000 0k 00000000
00 n,On, 000 P,00000F_,00000000 n,, ,Oh, ,0000000000
0000000000000000000 r,,0,0 P, 00000P,00000000
Pars O, 00000000000 Z =2 1A(b;=0)0000

D000000000000PR(:>0)000000 ROOODOOOOOOOOOO0R,
((>0)000000000000000000F,(0<i<p—1)00 s0000P,;00
s+10000000000000000000000s00000000000

3.3.1.4 00OOOOO

gboboboodgbbobbuoooobbuoooobbouooboboooobobbooo
Oooo0oo000bsP=0000000000 P,,000000D000000 (Zz,00000
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Processor P(p-1) P2 P1 PO
: a(p-1 - a2 al a0
Assigned word b(p-1 b2 bl bO

() JO0ODODODO RODOO0O o000

(b LOOODODOODOOYOOOOODODOODOODOO

()0 P (i>0)00P 00 Y0 Z 000000 Py,
UoYD zOOoODOO

()0 P (i>000P 00000000 ng,_, D,
udbobooboooonbon

1. ng, = (00 h— 1000 )y, = (00 h—1000)

2. 0;= (000000 ng,_,)+ (00 000)
bi=(000000 n,_,)+ (k00 000)

3. [a; b] =la; bi]-Y

(0P (i>000PH00000000 r,,,, O,
udoodobooooon

1. rq, = (00 k00D )0, = (,00 k0 OD)

2. a;= (0 KODDDODOD)
000 +(rs,,0 (—4k0000000)
b= (k0 kDDDDOOD)
000+(m,,0 [—k0000000)

(f) Z, 100 (0 b;=0)00000 (b)D(e) 00000

(g)e0000ODOOO0OODOOODOOOOOOO

034 0000000 GCDOOODODOOOOO
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0)0000000000000O00000O0000000000C0O0oOoDOoOoooOOO
gbbboodgbgobbuooobdouoooobbbooobbboan
ooobbooooooobobooooboDbod n,npZz0OODOOOOOOODO SD
ooooooobodoboooobooboooooobooobzZ,o o0 Py000000ood
gobobbooboboboddyp—-100000000000

3.3.2 Qoo GGCbuooouoouooogad
3.3.2.1 0000

33.1000ooooooon OO PR 000000000C0O000OO0OO0O0O0DOO0
g pbiobbobob PP 000bbbbbooodobobbooooooboon
oboobboooobobboboobobooboobooooboobob yoDo
000000000000 0o00ooooO (,=0)000000000000O000ODOO
gbooboboogobbouoooobbooooobobboobobbobooogbobooo
gobobooobobobooooboon

3.3.2.2 JO0OO

00SDO0O000O0O0000000O0O0DO00O0DO00O0000DOO0OOOOooo 3.5(a)
obooooooooodob poooobbo Rt 000000 b0O0o0bOooog
00000 YOoOoOooOoO (b, =00000000000000000000000O0O0OO
gboboboooobooooobobooobon

gooboboboobouobbo pU0bL00b0ob YOOUD ZzO0OOODODODOO
0 pr,0F,0000000000000000000C000 0000000000
O0oo000op00 PR (i>j+1)00000 ROOOOOOOOOO:—4000000
goboopbboooobbbooobbob11booub e —ygobbbOog

3.3.23 UL00ODLOOOOOOODO

OD0odooooooodo pooooooooooon Py, 00000000000
O0000000000000000000000 [p/2l00000000000000O0
ooooodooooob P0F,0000000000000000000
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time «—

Communication latency

time «—

P 1 1 3

jare omltted

-
-
-
-
-
-

P8 P7 P6 PS5 P4 P3 P2 Pl
i  —Execution IFat lines are the executip
at= tree sync ;of preserved fuhctlon step
Matrlx anDI Zi message Upper carry message '
at tree syinc. — at tree $ync.

F =~

P8 P7 P6 P5 P4 P3 P2 P1

Matrlx Zi and upper Carry meﬁsage
at linear sync. H

Executlon at Imear sync

l-ll-l-ll-l-l\-

111 'I-I‘

"H

(a) Without response message.

EFat Iineé; are the executiol
i of preserved function step.

Méatrix and Zi message. EUpper darry message.

’ Lower c;arry me
jare omltted

Responseg me&%agfe.

(b) With response message.

O35 00000 GCDOOODOOOODOODOODOO
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035b) 0000000000000 000O0O0O0O0O0O0OODODO0OOOO0OOOOOO
gbbO200000bbu0oobbbooobbbodoooobobooobbboon
gboobobbobuobooooobbbbbdouooodolouooooooboobooo
gbobobooobobooogobbooobbooboan

3.3.24 U00OOOOOODLOOOOOOOO

00000 GCDOOOOOOOOOOOOOOONOOOON0ODOONDONONonoooono
000000000000000000000000 P (0<i<p)000000000
00000000000000000000000

00000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000
0000000000000 P (0<i<p)0 Put1) mod p0 P2i) mod (pt1)0 Pl2i+1) mod (p+1)
(0000 POOOO ROD0DO)000000000006000000000000 3.5
00000000000 000000000O00000

3.3.3 oo GCbuououogood
3.3.3.1 LogP OO DO

Culerd 90000000000 DOOOODOODO LegpOOODOOOOOODOOOODO
ooooobdoboooobob cbooboboooo o.uobobo b gboonbbod
rPO40000000000O 3.600

oobooo eGCbobooobooobobobobobobobooobooboboon
U0ooboodouoooobobobobobibtdLegp OO O0oooonDOnDOd
Uo0oO00O0O0b00o00b LegpO0OOO0DOO0ODLOO0OOOODOOOOOOODO
gooboogoboboboogo

OOoboo eGeCbiooooubooobbooboobUbLegpOO0oOoODODOO
000 20000000 GChUOOOUOODOOOOU0ODOOOOUULODOOOOOOO
ObooobboobbuoobboobboobbibddLegpe 0o 0ooondg
godgobbodo1l1ogoobbooogd
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Sender time

LogP parameters (L*,o0™*,

Reciever

Recieve M essage

0 3.6: LogP OO DOOODOOO

3.3.3.2 JOUoUdbo GCDUOOOoOooooobooo

00000000000000000000000010*00000000 GCDOOO
0000000

000000 SbOO00 AQDD 23000000000 4080000000000 (1
R=-1Y00000

000000 J-Machine]9] 00000 LO0g0 0 032MB 000000000000
0000000000

00000000000

00000000000000000000s00000000000000000 00
000000000000000000000000000000000000

0370010*00000000 GCDOOO0OO0O00 10*00000000 GCDOOO
D00O0D0000000000000 2=10000000000000000000000
0000000000000 P=1000000000000=10000000000
0000000000000000000000000000000000000000
00000000000000s00000000000000000 s=6000000
0s=5000000000000000000084010100000
D0O000000000000O00

00000 GCDOO000000000000000000000000000000
00000000000

0380000 (1,2 Y)000000000 GCDOOOOO0000O0000O0OOSingle-
precision GCD 0000 GCDOOOOODO GCDOODDODOD0O00000000000OO
GCDOO0O00000000OSerial GCDOOO0O000000000000000000O
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50 =" Tree sync. without res. ——
x=10000 -~ Tree sync. with res. -
Linear syncronized ----
0 | ]
o 20
]
<
5 10 1
)
8
o 57 1
8
o
3
2 2 F x=1 T
5]
Q.
n
1F 4
20 50 100 200 500

Processor count : P

037 00000000000000GCDOOOOOO0OOOOD (L=32,0=4,g=8)

Single-presicion GCD -
1000 Serial GCD -~
Parallel GCD (tree sync. without res.) ——-
a Parallel GCD (tree sync. with res.) -
S S N Parallel GCD (linear syncronized) ——
= oo ——
& 100 - g
2 ;
=]
B
o
3
=]
(<5}
(<5}
o
n
1 Il Il Il Il Il L

1 2 5 10 100 1000 10000
Number of Bits : x

038 00000GCDOOOOOOOOOODN (L=32,0=4,g=8, 0000 :P=84,5s=6, 0
000:P=101,s=5)

40



\, Parallel GCD (tree sync. without res.) -
N\ Parallel GCD (tree sync. with res.)

\
1.2 | N .

1.1 -

Speed-up ratio to linear sync. Parallel GCD

1 2 5 10 100 1000 10000
Number of Bits : x

039 00000GCDOO0O0O0O0OOO0OODODOOOOO (s=h)

goobobbobboboooooo CbhooouooUoUouoboUoUooo ecboouoood
OO0000OParallel GCDODOOOOO GCDOOODOOODO OUOlinear syncronized [ O O
O00Otreesync. 000000 Owithres. 00000000 DOODOOOODODOODODO
0GCDOUOOOO GCDOOOOOOOOOOz=10*00 5660000000000
00000000 GeChbOoUOOoOU0oOoU0oOO0o0ooUoOoUOn GeDO 1/2800000
goboo eGCboboboobuoooboobboooboobboooboooobbooon
O00od0o GChbUOUO z=3000000000000000000000 GCDOOO
Obodbodoobegz=500000000000O000OD0O0O0ODOOD0ODOODOUOODO
OO00000oooooooooooooboo
Ooooooo

gbobooooobooboboobboobbooobooobuoobuobD syoogobo
J0o00o0oGCbU0ooOoouboooboboooboobDboobobo0obDbogds=500
obooboboooboooboobooboobobobooOoobUoUbbobobuobo
O0o0obobOoobooboobgoboobobooboooooobOooboo

3.3.3.3 U0bOoouougon

gbobobooobbbooooobuoooobon
03100000000 LOoboboooobooobooo GCbooooooogoooon
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500 | T

200 | i
100 FXEF PR

50 | P

20 | T .

Execution times (x10000 clocks)

10 T .

5 | x=100 ) - - __7/:-7/‘« .

1 3 10 32 100 320 1000 3200
Latency : L

0 3.10: 00000 LOO0OODO0O0 GCDOODODOOODOOO0OO (0=4,5=8,s=6)

obooodL<ipoogbod cobobobuoobuoobbobbobbo00DO
obodobooodL>10000bbogoboobbobbobooboooL=1000000
godobbogooboboooobobbooobbobooobobbbooooobo
god

OooLogodogbuobuobobbobobobuobuobboobobobdbgh LO
gobobooggbobooogo

3.3.4 00O

Oob0oooooooboobooboboooboboobooboboobo géboboooooo
gbobobbooboobobooobbtuoooobbbbuooobbbuooogboboo
god

goobbbodbd LegpOO0bO0oboobbooooooobobobbbbobo
goboboooobbboooobbooooobobobboooobon
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3.4 0O0O0OODOOCM-500000O0O0DO0000

Oo0DOO0obO0oO0obOOoOo cMH OO0 O000obobobOOoDbbOUONLegP, 0D DOO
LogPQUUDOODOODOODODOODOODO

OO00Cannon OO OO0O0O0OODOOOOODOODOODODODDOOOODOODO CM5
gboboboogoboboboooobbooboobobbuooobbobuooogbobbao
D0ob0bobboobbo0obobub0o0bU0UbU LeogPODOO LogPQUOO
goboboodoobobboooobbobooobobobooobon

3.4.1 CannonU0O0O0OOOO

Cannon 000000 210000 AD BOO C=A-BO0OO000000000O00O
0000000000000 NxNOOOOOODOO P=p000000000000
NO pO000000000000000000 pxp00000000P,; (0<4,5<p)
00000000000000 P,000000 4,0B,0C;00000000 A;0B,;0
;00000000 ADBOCO 000 j000000000000000000000
IxI0001=N/p00000 CO0000000000000

1. 000000 Py0 0 A0 Py mod 0 0 Bii0 Pl(i_j) mod p);0 0 0

i)
2. 000000 P,;00C;0 (4;;-B;;) 0000
3. 000 (p—1)000000
(a) 000000 P00 450 Pig1) mod p)B 0 B0 Pli_1) mod p);0 0 O
(b) 000000 P;00C;0 (A -Bi;) 0000

00000000000000 O(N%/P)000000000 O(N2/v/P)OO00

3.4.2 UU00OO0OOO0OO0OOOOOOOOOOOOOn
J3.4.2.1 JO0O0Oooooo

Canmon U000 0O0O0O0O0OOO COOOOOOOOOOOCMMUODODOOOODOO
O000O0CM 000D OOOOCMMD6|000000O0O0OO0OOOO0OOODODOOO
goboboooboobobogo

43



1. 000000oooooo/ooooooooooo
Message Control Blocd] MCBOO OO OOO00O00OO0O0O0OOO0D0DOOOODO [Send/Receive]

2. MCBOOOOOOOOOOOOOOOOODOOO [Wait until finishing]
3. MCB O 00000 [Release MCB]

4. 000000000000000000000 [Computation]

goboboboboboobooooobbuoooobobuooobobooooboboboo
gbbboodgbbobogod diiguobobouodgbbooodaobbboadoan

(a) 000000
00000000000000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000 20000000000000000
0oo

(b) 000000
00000000000000000000000000000000000000
D000000000000000000000000000 2000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
00000000000000000000000000000000000000
0000000000

(¢) 00000000
00000000000000000000000000000000000000
0DoooooO

(d) 00000000
000000000000000000000000000000000O0O0000
0o0ooo

() 00DODODOO0O
000000000 3.11(c)(d)000000000000000000000000
0000000000
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[Source processor]
loop:Call Send
Wait until finishing
Release MCB
Computation

goto loop

[Destination Processor]

loop:Call Receive

Wait until receive finishing
Release MCB
Computation

goto loop

(a)Simple communication.

[Source processor]
loop:Call Send
Computation
Wait until finishing
Release MCB
goto loop

[Destination Processor]

loop:Call Receive

Computation
Wait until receive finishing

Release MCB
goto loop

(b)Hidden communication.

[Source processor]
loop:Send
Computation
Wait until finishing
Release MCB
goto loop

[Destination Processor]

Call plural Receives

loop:Computation

Wait until Receive finishing
Release MCB
goto loop

(c)Hidden using the receive buffer.

[Source processor]

loop:Call Send
Computation
goto loop
Wait until all Sends finishing
Release all MCBs

[Destination Processor]

loop:Call Receive

Computation

Wait until Receive finishing
Release MCB

goto loop

(d)Hidden using the send buffer.

O 3.11: Cannon OO QOQOQOOODOOO

45



O0OCannon 0000000000 O0OO0OOODO »=0000000000000O0O
gbbboodgbbbbuoooobdz2reobboobbooobbboab

3.4.2.2 U0O0OOOOOOO

031200CM50 64000000000 Cannon D000000000000000
000000000000000 3.12(.)0(h)0() 00000000000 N = 80640
102400000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000

000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000

000000000004 00000000000000000CM500 Cannon 00
000000000000000000000

3.4.3 LogPU LogPQUUUUUUOUOOOOOODLDODODDDOO
3.4.3.1 J0O00ooooog

Cannon OO 0OUOO0OO0OOO0O0O0ODOODOOODLOODODLDOODODODOODLDDODDOOO0
LogP OO OO LogPQUOOODOOOOOOOO

Cannon D00 00O0O0O0D00OOOOTOOOODOOOOOODIDODOOLOOODOO
gooo 00

ty =ty +ts- 1 (3.4)

goboodgbodaodbodiuounodboogodddsubaooaooauoodon
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O 312200000CM50 6400000000 CannonUO0O0O0O0OOOoOoOoOoOOoO

gooo

Times (sec.)

Times (sec.)

Times (sec.)

-2
1x10

5x10

T T
Execution -------
Computation

Simple Hidden Receive Send Both buffers
Communication strategies

(a) Matrix size N = 8.

6 x10

3x10 [~

Execution -------
Computation

Simple

Hidden Receive Send Both buffers
Communication strategies

(b) Matrix size N = 64.

2x10

1x10 [~

Execution -------
Computation

Simple

Hidden Receive Send Both buffers
Communication strategies

(c) Matrix size N = 1024.
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gooboogoobboooobobbooooboobo e

oboobobooobooTrTag

T=t.+p-toom (3.6)

bbbt 0000000000000
100000000000 LegPOOO0O0ODDOOOOOOOO A;0B;0100 =12
goooobooooubobodaooodobodiooooioiodd tr,, 0000000000

Lrogp, =
[ o + 3mazx(0*, g*)

(ta > L*) (3.7)
(L* —ty) + (0* + 3maz(o*, g*))

(otherwise).

10000000000b00000 LegpOUoonoboooooobobo 00100
Doooodbodoooooooouoodbooiooonii i, 0000000000

tLogp, =
0o + max(og, go) - (47 — 1)

(tayr > (Lo — (2r — 1) - max(og, go))) (3.8)
(Lo — (2r — 1) - maxz (oo, go) — tar) + (00 + maz(og, go) - (47 — 1))

(otherwise).

LogPQUUOOOOO0O0OOOOOOOODODODO »r0ob1000DO0ODOODOODO
DO0D0000000000000 trgpred0D0O0OO0OO0OON0

trogPQ =
4o -7 +n)

(tsy >(L+(2r —1)g—2r-0—n)) (3.9)
(L+(2r—1)g—2r-o—n—ty)+4o-r+n)

(otherwise).
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LogP LogP LogPQ

(1 messgae) | (1-word length)
L*:1.25-107* | Lo:1.77-107* | L :2.44-107*
0*:1.71-107% | 09:1.19-107% | 0:4.59-10°°
g*:5.50-107° | go:3.44-107% | g:3.44-1076
n:9.75-107°

(sec.)

0 3.1:00000CMS0O LogPOUOO LogPQUUOOUOODOO

3.4.3.2 LogP U LogPQUUOODOODO

00000 CM500000000 ¢,0¢,00000000¢, =5.98-10 %(sec)dt; =
1.55 - 10~%(sec) D 0 0 O

O0O0OCM5O0000 LogP 0000 LogPQOOO0COOCOOOOD 310000000
0000000000000 000000000000000000000000000
0000!(=400000000 160000000000000000000LogP 00O
0 LogPQODOOO0OOOOODO

3.4.3.3 LogP O LogPQ O 00O

03130000000 CM500 Cannon OO O0OOOOOOOOOOODOOOOLogP
O LogPQUUOUODOOOOOOODOODOODODOOO

LogP U0 U001 0000000DOO0O0O00D0O0OON<320000000000N > 32
DOO0bOO0b0d0dULegpOOO1I00ODbDOODOODOODODDDODOODODODO
obbob0b0-00000000D0LegPODO0OIOOOO0OO0ODO0OOOODOOOO
LogPQUUDOOUOLogPp DD ODOUODOODODODOOOOOOODODOODOODODLDOODOO
god

3.4.4 00U

ObOooooboobooboobonobobbobobDb LegPpQUbOonooooO
O0o00bOob0o0ooobooboooo cMs 0000000 DO LogP DO OOO LogPQ
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Experiment results
LogP (using 1 message) &

LogP (using 1-word length messages) -=--
LogPQ ->¢--- 7

Execution times (sec.)

e L L L L L

8 16 32 64 128 256
Matrix size N

O 3.13: Cannon D OO O0O0O00OO0O0OO CMAO 6400000000000 ODO LogP
OO0 LegPQUOODOODOOOOODOODO

ooboodobobooobbiboooobbboooobobboUdLegkQUobond
gobboobooobbbooooboobooobbooooboboboooooboboboo
god

3.5 000

gbobobboobobobbooodooobuoooobobbuooobboboouoboboobobo
OO00O0oo0o0obo0ooooob LegkQUDOODOOOOODOOODODOOODOOOO

oo cGcOuoboobo LPRAMODDOODODOODOOOOOODOOOODOO
gboboboogbobbobbooodgbobbooobbbbouoooboogan

Obobooobbo GChbUuUdboonodd LegpQUUUOOODOOUOOOonoOOoonDOoO
goboobbodboogouogobbooobobobooobbooboobbooad
LogPQUUODOODOODOOODODOOODODOOOOODODODODLOOOOODOO

Ooooooobobooooooooobob eMsOobonooooobOooboboDon
gobbooboogobbbouoboogbotoooobobooboooobbbbooobboao
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D000 LegPQUDOODOODOODODOOODODOODOODODODOOD LegPpOOODOO
LogPQUUDOODOODOODOOODOODODOO
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1 40

Juouogoddgubooootdd

4.1 0O00OO0O0OO0O0O0O0OOOOOOOO0O

gbogboodgboboboogoobbuougobobuooobboboooabobobobo
gobobbodogogooobbbbbdooooo200 sugggooooooooa
gbbobboodgubobuooobboooobbboboobbbbuooooobbbo
gboboboodgbobbbuoooobbuoobobbbobouooobbbuoooobbboo
gbboboobobooboobbbooobbbboooobbuooooboobooon
goobbooooboboboobodbbobooooboooouoobbooooooobo
goggdgbbboogobboouobbbboooobbboobobbobobobo
gbobobooobdgbboooobbooooobbbooobbboooobooooo
gbguogobobdoouago

gbobogbboboogobboodgbboobbooobobobouoooooobon
gobobooboooobbbboooooobogoboboooobobooooooooo
gbobboodgbobbboboobobboooobbbboobbbooodobbboo
gon

gbooodbooobooboobuoooboobooboboobooobo eM-Ob DO
oodbobobobo0oobobobouooobobuonCUuBER20000000O00DOOOOO
goggdgbbbooodgbbbbobodoabbboboobbuoooogooobobo
gbhogbogbboobboobuoooogbuobbooboobbboboboboabb
gbobobboodgbobobuooobouogoobbobobooobboooobobboo
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gbbogooboboooobobobooboboooobobobboooobobobbon
OoobooboooboiooooooboooooLANODOODOODbOODDbDDODbODOO
OO0 wWANOOODOODOOooooooooooooooobobobobuoboooooo
gboboboodggbbobooooobboooobobooboobobbobobbodgabboo
gobooooboogd

gbobobooodobobbuoooobbuoooobobboobboboooubbobooo
OO000 10Mbps OO OO0 100MbpsDOODOODOOOOOOOOOODOOOODOODO
gbobobobdgbobbbuooobbuoboobbbbouoobbbuooooboboo
gobbgobbugboboudbogouoobboobboobbuooobbuogobo
gobobobodobbboooobbooooobbobooobobboooooboboboo
gobboobdgobbboooobbbobbooodobbobooooooobobooo
guoboboogo

guogboboobbbbouooooobboooobobobbboooboboogy
gbouooboogboobuogbogoooooboboobbobobobbooboooa
00000000 1/o0o0000000o0oo0o0o0ooooo0ooooooooooo
gbooobdbouoooobbbuooodobn

gboboobogbbdobbdadgb mseobogoogbuogobouooooonobg
0000000000 [2200000000000000000000000oooooOd
gobbbododgboboboooobboooooboboooobobobuoboobbboo
gbbobboodgbbbbouoooobouoooobbbooobboboabobobboo
000000 Obranch-and-bound 0 [23] 0000000 [24|0000000000O00OO
O Oprimal-dual 0 25| 00000000000 00000000O0O0CO0O0O0ODOOGavish
026 00000000000000000000 200000000 2-median0000
O O(nlogn) 000000000000 00O0Tamir[27)]0000000000000O0O0O
00000 p00000000pmedian00000 O(pn)0000000O0OODOOO
OOChardaireJ 28] 000 000000000000 ODOOOOOOODOOOOODOOO
O000000000O0000ORIghini[24] 0000000000 0000OO p-median 00O
000000000000 0000000KmmkeO 290 0000000000000
D000000000000000 p00000000p-center™®OO000000000O
gbobbbodobgobbuoooobbooodo
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00000 [3))00000000000000000000000000000000
0000000000000000000000000000 [3]00000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
000000000000000000000000

000000000000000000000000000000000000000
0000000000Slater 00000000 [32][33]0Morgan0 [34)0 0000 nO 00
00000000000000000000000000000000000000 O(n)
0000000000000 00OMinieka[35)00000000000000000000
00000000000000(x*)0000(r?)000000000000000TamirO
[36) J00000000000000 0000000000000 Ox3p})00000
0000000000000000000000000000 [37]0

00000000000000000000000000000000000000O0
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000

00000 5000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000000000000000
000000000000000000000000000000000

000000000000000000000000000000000000000
00010000000000000000000000000000000000000
0000000000000000000000000000000000000000
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Size of facility: p 0 logn Voo | n/2
(no ficility)

Mean cost logn logn —loglogn |logn/2 | 1

for communication

Maximum cost 2logn 2(logn — loglogn) | logn 2

for communication

U 41: 000 n00000000000000000O00O0000ODO0

gbobogbbobobboobbuooobobbooobbooboogoboboobbooo

gobobboobbobobodbooouodoobouoobbbooouboboboo
goboboogoobbuoooooboboooboboboooobboboooooboobooboo
gbbgdbbuoouoodgoboboodobboobbuooobouoobobobbboaao
gbobboodgbbbddooooobuoooooubuoooboboooobobobood
0000000000000 0000000000 2~0000 O(logn/loglogn)0 OO0
gobobobodubbouooooboboooobboboooobobooboooboboo
gbobbobdgbbbboooobobbuoooobbbooobbboooobbbood
O0000000000000 nO0000 O(ogn/loglogn) 0000000 10000
goobobobobbbbuooobbuogobobooooon

gbobobbogbobobooobobooooobobuooobbobooogboboboo
gobobobogd

4.2 O0O0O0O0OOOOO

gbogbooogbobobooobobogboobboboobuooboobooobaad
goggooboogoobbbooooobbbodobobooooobobob110o0a

4.2.1 000O0OO0O0O0OOOOO

gbbboodboobooooboboooobobbbuooobobooubobooo
gbobobooguobbbooooobboboooubbobooooobobboboood
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o YL 0
O O
. 1& &l o
O Ol =
Optimal
O
O

facility F

Low-speed network

U41: 000000000000 F

goobooooboobooooobobooobobobobobobbbuooooboboboo
gobbooaobbbooooobboooobbboooobbboooobbboo
gboboboodgbobbobooobbuoooobbbooobobbobobobbboo
gboboboobodgbouooubbbboobobbbuoooobobooogbboboo
gboobogobon

04100000 310000000000 e00b0obbo0b00 FODDOOODDODO
gbooboggobbbuoooobooooobobobbbobooobobbboo
0000410000000 14000000000 FOOOO FOO e,0e000000
000000 FO0O0OOO0O0O0 FOOOOOOODOOoOoODOooooOooOoOOoooOoo
goobbbobuogoooooob 4100bbo n000DLODbOO0bObO0 pbODOOO
gbbbbodoodgobbobobdobbbooooobbboooobbbobbaad
00,./x0000000000000000000000000O0O000O0O0O00ODO0O
gobobooogobobobodggd
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Size of 0 logn vn n/2
facility: p (no facility)

Construction n—1 (n—=1)+ogn | (n—1)+(/n | (n—1)+ (n/2
cost +1)(logn+2)/2 | +1)(vn+2)/2 | +1)(n/2+2)/2

U 42 000 0000000000000 0O00O0O0O0O0OOO0OODO0O0O00040g
gd

4.2.2 UO00O00OO0O0OOOd

000000000000000000000000
0420000 FOOOOOOOOOOOOOO0O000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000 pp0000000,4,¢,00000000000000000000
000000000 O()0000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 O(p)00000
000000000000000000000000000 p00000O000O0O
(p+1)(p+2)/2000000000000000000000000000000000O
0000000000000 4200000 p00000000000000000000
000.rO00000000000000 /20000000000
0000000000000000000000000000+//#/200000000
000000000,.,000000000000000000

4.2.3 UO00O0O0O0OO0OOO

000 nO000O0O0OOOOOOOODOOOyRO0O0O0O0DOOOOOOOODOOOOO
l500bbobobobbbobooobbuooonbon

gboboobooobobobbooboobbuogobobooooobobbooouoboboo
gbbbboobdobbooogbbboodobbbooooo
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Facility F is constracted by a complete
interconnection with low-speed network.

042 000ddbooodogooobbooooobbooooouoon

gboboogobobooood

000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000

00000000 p/200000000000000000000000000000
(p/2+1)(p/2+2)/200000000000 p/200000000000000000
0000000000000 (p/2+1)(p/2+2)0000000000000000000
000000000000 (p+1)(p+2)/200000000000000000 4.30
0000 43(:) 0000000 60000000000000 2100000 4.3(b)00
000003000000000000000000000000000000 12000
ooooo
000000000000000000000000000000000000000
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Facility F Facility F

................

..................

Facility F consists of 21 lines. Facility F consists of 12 lines.

(a) Facility consists of complete connections. (b) Facility consists of two subfacilities.

U043 000000000000 00

gboboboggo

gbboooobobooogan

gobobogobobobbooooobooobobobboobbobooouboboboo
gbbbboodgobbbuoooobboboobbboobbobbbuoooobbboo
gbobuodgbbuodgbboodbogobbbbooouooboooboboobbood
gbobobodoggobobboooobboooubooobooooouobobogo
gobobboooobobboooobbooooobbbuooobobbuobooobobon
gbbboodgbobbbuoooobboobobobbbboobobobuboobbboo
0000000 4400000 44(a)0000000000O0O0OO0O0OODOODO10O00O 2
gboboboggobobbuodg1iobobodobog20b0b0bgbo20b000400boad
gbboedooobbouobobobb2000bbouooobbooooboobogoo
00000000 44b)0000000000O0O0O0O00O0O0ODOOO 100020000
guobboo40000000000

gbboooobbboooobobobbooobbuooobbobbooogobboo
gooboogobon

59



Comm.1 uses facility F. Comm.1 uses facility F, .
mnn II!:aHCEIII!IIIFIY F

||\s E(‘||||||||
|||||||||| LLLLTLLT / FaCIIIty F f /
Comm.2 can’t use facility F. Comm.2 uses facility F, .
(a) Communications using facility. (b) Communications using two facilies.

U 44 00000000O0OO0O0O0O0O0O0

4.2.4 00O

gbobobbogbbboooobobbuoooobobbobobbbdoooooobboo
gobboogbbobboooobobbooooobbuooobbobooogoobood
gboboboogobobbooooobobbooobboboobobbbuooubobooo
goobobooboobbooooobobbooobbbooobboboooobobobood
gobbbdoobbbbooodbbbooobbbboooobbooan

godboboububoubbbobobuoooboboooboboooooboobn

4.3 O0OO0OO0O0OOOOOOOOOO

000000000000 O(logn/loglogn) 000000000 0O0ODOOOODOOO
gboboboogbobbbuooobbuoboobbioouooogbobuooouboobo
gobogboggoboouooooogobbbobbboooboobbbboduoog 1
gooboooboobogan

gbboobbbbdogobboooobbbooodobobbboooobabdoodao
gbobobobgbbbbouooobbuoooobbbobobobbuoooobbbooo
gubboodgbobbbugoobbbooobbboooobbbuoooobobboo
gobobboobobbododobooooobobbuooobboboougo
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4.3.1 0O0OO0O0OOOOO0OoOOO

00000000000 70000000 7000000 V(T)OOO0OO0O E(T)00
000 7000 (vyw) € B(T)DD0200 vOw € V(T)OODO d(v,w) 00000000
0000000000000000000000000 dv,w) 0100000 77000
00 |7'/0000-000 70000 |T|00000 70000 T700V(T") c V(T)O
E(T")c E(T)0OO0O000O000000 .0000000%0000V(%) = {v}0E(
v)=¢0000

000000000000000000000000 FOO 70000000000 F
0000 (000000000000000000000000001000000/00
00000 |E(F)| 0000

00 FOOOD S(1<:<t)0000000000000000000000

V(F) = Ui, V(5:)D
E(F) = Ui, E(S5;)0 (4.1)
E(S;)NE(S;) =¢ (i#7)0
00 FOOOODOOOFOOOOOOOOOOO0O000000000000000000
00000000000 FOOOOO S;(1<i<t)000000000F0 8;(1<i<1)
000000000000¢t0000000000000¢t00000000000000
0oooo0o0o0o0oo
0450000000000000000000000000000O0O0O0O0OOOO F
00000403000000 508,080000000
000000000000000000000000000000200 v0wd000
dv,w) 0000 v0wOODODO (00)00000000000000 0000 FOOOO
d(v, F)OOvO FOODOOOO

d(v, F d O 4.2
(v.F) = min_d(v,u) (1.2

000000 FOOOOJdF)ODODFOTO000w000000000O00ODOO0OODOO
Y d(v, F)O (4.3)
veV(T)

045000 0FO00O000O0O0O 10000000 1B3O0FOODOOOOOOO 100000

dF)=130000
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045 0000000000000000000000000000 FO 3000000
0000000 $,080S80000000

00000000 JdF) 000000000000 000000000O 46000000
O000000bO0O0Db00046000000000000 FODODOODOODOOD 2
oooooOo s,050000000000000F0000004d(F)=17000000
FOO2000000000008000D00000OOOOOODODOODOOODOODO
000000 FO0O0008000UO0OD00OD0DOO0Od(F)=150000000000
OO000DODOO0ob00o0O00O0bOOobO0obOOooOooDobOoobooboD

00000000000 000TOO0D000D0O000II00D0DO00+t0D00O000O000
00000000000 FOODOODOODODODOODODOODOOOOOOODOTODODOOO
O000Oalogn/loglogn 000000000000 OOOOOO

0000000 O(leogn) DO00O0OOODOO0OODODOODOODOOOOOOOOOODOO
O000000000000000000000 Ok-ary d-cube(38) 0000 Ok = lognd
d=logn/loglogn 00000000000 2logn/loglogn0000

0000000000000 0O0000DO00O00D0DOo00goDooDooooDooon 1
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F= Sl U S2 : 2-Partitionable Minimum Distancesum Facility

F’ : Minimum Distancesum Facility

046 0D0000obboboooooooobbooooobooo

0000000000 NP-OOOOODOOODOOOOOD (370

4.3.2 0O
00000000 oT7T0O0t00oo0oooooOob0( o000 FOOOOFOOO0OO
O0oooooo/co0ooooooooon

=1/t (4.4)

ooO0/ooooo0ooopooooocooooooo
0007000000 FOODOD T F)0000D0000ooOOO

AT F)= > d(v,F)O
veV(T")

(4.5)

TOOOOmedianO0¢OD OOODO d(p) D0OOOO0O0ODO o00007TO0O0ODODO ¢g00O
Oroot00 000000 T,00000 470 7,00000000.0000000 44,0000
0000001 <:e <, U00000000000000 ¢0DODOOcentroidd OO0
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047 0000 ¢uD0OOO0O0O T,

0000000000 7TOODOD0OOOODOO |T|)/200000000000000 [33]0
oboboooboo S ,00b0b000nooboon

dy, <A = alogn/loglognO (4.6)
ooooo0o 7urgooooooooooo

V(T'UT") = V(T') U V(T")O

(4.7)
E(TI U T”) = Uv,wEV(T’UT”),(v,w)GE(T){(v7 w)}D
oooooooooo T/rooooo
vy = v/ virno
(1) = V() V() (48)

E(T'/T") = Uy wevr /), (0merri(v,w) 0

0000000
0007000 007,00 ¢q00000000000 V(700000000000
00 7"0000000000000000000007,0000

000:00000000000000000«(00000000 |»f0000000
00000, /01<j<|«[00000x[,;)(k01<k<i00000(0000000
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0 48 000 T,0 T2

000000000002000000000x[2,1)(1) =10x[2,1](2) =20 x[2,2)(1) = 20
7[2,2](2)=10 200000

00 vy, jjy0 0v0x[d,,5)(k) 0000000000000 7,000000 »0000
0 u01<k<d,00 vy 0000000000000 700000 4.80 74700
000O0x[2,2/020000000007*0 7,00000 v0000 wO0wdOOOOO

gboboboggo
TO00000020000000 vw01<k<:000000000 (T), 00000
/() 000000000000:<d,0000

T7(i) =v U kU (177),, 0 (4.9)

00046 0000000AO0O0O0OODOOODOODOO

Al S 2AlogA
— 2(a logn/loglogn)log(alogn/loglogn) (410)

<na(1+loga)|j
(410)0000:<A0D00D0:000000000000 |#]|000000000000

|7[i]] < ne(Flese)n (4.11)
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4.3.3 U0O0OO0O0OOOO0OOOO0OO0OO0
4.3.3.1 JUUOO0ooooO

TamirJ [36) 0 000000000000 0O0O0O pO000000OO00ODODOOOOO
Ubooobooboobob00Tamir DO OOOOO0OOODOOODOOOODODOOODTOOOO
oodbdoboboooboooooboobuoobobobbobbrobobg gbobbbdg
goobbobobogoooobbobobobbsuooooobbbbor,oboobobobod
gooodoooooor,obooobooooorooboboobooogoooooooad
gboor,uoooobgoboobooboooobooboobooboboog

4.3.3.2 U000 O0OOOO0OO0O0O

Oooooooboroooooodooonooaion F0Od7rdon quiodond
o0 7,00000000000000000

U0 100 FO:00000D0O000DOO00OFODODOODDO v00.0000 FOO
00000009 OO0O0O00O0O00 FUg/v,00tO0O0O0O0O0oooooooooooo
»nO FO0O0O0O0O0O0O0O0O0O0

OpoO000oO0O0O000d0 FOO0OD400000FODOOODOOOOVOtODODODOOOO
S;1<j<¢y)y0000000S00000000000S50000000 FOOOODOO
00000000000 000D000FR(1<:<m)00000 FKFOOOODOO S;000
oboooboboooms0boobobooobooo sbogg
O000000000000t=10000F00 eg=(v,w)000000000wO F
0000000000000 Fug/0000'000000000t=t,00005,00
e =(u,w)DOODOOOOO0OOwO S;000000000w0 FOOOOOt=100
Uobobododtdwdb 49000000000 OOODOOG <ty—10000000
o000 woouooFUL/o,0 ;,000000000000000O00DO00000O00O00O0O
SiUt/o000000000 Fudg/,00¢t00000000000000y

00 200000000000 F000 OO0

0ood Fp,d 00000000000 F,,000 000000000 000000
100000000000 F = Fpuiy /w0 000000000 F,0000000
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049 000000000O00000DLO0O4d

00000000 7M0w000 FOOOOOODOOODOO0O0000 7"00000000
00 d(Fo) —d(F) = |T'| —|7"| 000000 ¢0O0000D0O00 |77 > 7" 0000
d(F,y) >d(F)0OOO0F,,0 0000000000000000,

00000 FOF/0000000 FFUF'000000000003000000000

00 3000000000000 T7TO0T"000000007T'000 »0 7000 v0
00 7,0000000007'000 FFOOOOw0 FFODOOO0OO07T"000 F'0000
vwpO F/O00000000000 TMuT’'000000 FFUF'0000 (T'UT", F"UF")
gobbooobobooooboon

AT UT", F'U F") = d(T'; F') + d(T"; F")O (4.12)
7000000000000 4T uTF)0000000000

AT UT", F') = d(T'; F') + d(T";3) + |T"]. (4.13)
4.3.3.3 00O

gbbboodbbbbooodobobobdboobooobbbbooobbboo
00000 7,000000000 |7,|000000x[,]0000000000
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00 ¢00000000 7000000000000 |7,/0000000([39)000
00000000()00000000000000
000:=10A000:000000000+[;,j]0000%2, |« 00000000
0000«x[,j]0 O(A)000000000000000000000000

AYE, [xli]] < A%fx(A]]
00 < (alogn/loglogn)?na(itiosa) (4.14)
00 < O(na(1+loga)+1)

0000(reHes iy Ooo00

4.3.3.4 0U0OO

000000000000 .,0000000 77 0000000000000000
Ooooooooodorooooboooobobodoorobogooooooooood
goboboogbbobugogbbooogoboobooooboboann
googgooo

ooQ7oooocoo0oOoooooooogo/l/ocooogoo/oopooooooo 7
0000000000000 0 10000000000 oooooooD Too00d
0000000000 /Obo000o0ooooooooooooon

000/000000000000000000000T0 000000000700
00000000000 0000T0oooooo00ooDoOOoDOoDV00ooD k0O
000 L,W0oooooo0ooo0ooo0 7, 00000000000F(v, k) DDOOOO
0000000 =0000000 F(v0,0000000000000007,0000
F(v,k,lp) 00000 d(v,k,lp) DODOODD0OOO0OO0OO0OO0O0OODOOOODODOODOOOOO

goon
F(v,k,ly) = nonel

(4.15)
d(v, k,ly) = ool
Oo2200000000000000 F0000000000
F,, = F(q,t,0)0
Pt (g ) (4.16)

d(Fopt) = d(g,t,0)0

gboooagn
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000 700020000000 ,0000 S,0000 /700000 50000000
000000 FFO00000000O0
k+1
F'=5 0] Sv e V(s)O (4.17)
=2
000 7T00000000000004<;00000000 (a)(b)000000000
070000000000

() J00D00 000000000 S000000000:<r<j00000 »,0
sooobobooooooooboboboon

(bh)ODOODOO» 0000000000000 y,O0D0O00O00O000O000000
gooboogd

OO00/0000D000DoOooooooooDOoDoOo ToooooOoooorTaon
OO00000000000O0O07rooooooooooo0oooo//ooo0o00 k000
00 L,00O000000000000 T9(6) 0000000000 F(v, k,l;j,i) 0000
Ti(i))OOOO F(v,klo;5,4) 00000 0d(v,klo;5,4) 000000000000000
odoooooboooooood

F(v,k,lg;7,7) = none
(v, K los 5,) (4.18)
d(v, k,lo; j, 1) = 00
gogougobogoobooogo
0o00ooooooooooooooonooog 405000000

00 4 0007,000000000 F(v,k,,)00000 T/(d,) 00000000 F(v, k,l; j, dy)
000001<j<|n(d,)|000000 ;0000000000000

F(Uakalo) = F(v7k7l0;j7 d’v)D (419)

00000000000 F(v,kly)OOODOOOODOOO S;(e>1)000oooos;00
goos,dddddoobooooooboboony,0ooooooa Sg(i)DDDDg(i)DDD
000000000 7[d,7]00000F(v,k )0 Ti(d,) 0000000000007 (d,)
000000 7,00000000000000d(v,k l) = dv, k, lo; j,du)0 F(uv, k, lo) =
F(v,k,lo;j,d,)0y
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000 00 +000 k000,040
Ti(i—1)00000000
d(v,*,%;j,i — 1)0 F(v,*,%;j,i — 1)1

T4, 000000000
A(Vridy 1) % *) O F (Va(d, 1) %, *)
000 7)) 00000000

d(va k,lo;j, Z)D F(’U, k7l07.772)

i=1,l,=0k=0000
(v, k, lo; j, 1) = d(vsia, 50, 0,0) + |To,
F(v,k,lg;7,1) =0
i=1,0b=0k>0000
d(v,k,lo; 4,1) = d(vaja, jjay, k — 1,1' = 1)
F(v,k,lo; j,1) = F(vaia, sy, k — 1,1 = 1)UD
i=1,l,>0000
d(v, k163 4,7) = d(vsia, 1000, %y lo — 1)
F(v,k, 10, j,7) = F(vna, iy, ks lo — 1)UD
i>1,0b=0k=0000
d(v, k,lo; j, i) = d(v, k,lo; j, 7 — 1)
00000 +d(vsa, 1, 0,0) + |T,
F(v,k,lo;4,13) = F(v,k,lo; 5,1 — 1)
5.i>1,0,=0k>0000
0000 k0000 0000000000000
000000 FOOOO F(v, k,lo; j,6) 000
1)0<k <k, 0<[l;<lDOO

d=d(v,ky,ly; 5,0 —1)

O 4d(Valg, ji(i), k — k1 — LI =11 = 1)

F = F(v,ky,ly;5,i—1)

0 UF(vsa iy b — by — 1,0 — 1 — 1)

o &~ 0O 0o « 0o >y ogog =

w[dy,51(5) |
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2)ky =k, =0000
d=d(v,ky,ly;5,i—1)
+d(vxia, g1 k = F1slo = ) + [Ty
F = F(v,ky,ly; 5,0 — 1)
6> 1,l0>0,k=0000
ood k,,0000JJj0000000000000
000000 FOOOO F(v, klo; §,6) 000
1) ki =0,0<8 <000
O d=d(v,k,l1;5,1— 1)
td(vsga, 0k — Ky lo — 1 — 1)
F = F(v,ky, 11, — 1)
UF (vian 160,k — ks lo — 1y — 1)
2) ky = 0,0, = [0 0O
O d=d(v,ki,l1;5,1— 1)
Fd(va(a, 510, k= kislo = ) + [T
F = F(v,ky,ly;7,1— 1)
>10>0,k>0000
odo k,,0000 0000000000000
000000 FOOOO F(v,klo;§,i) 000
1) 0<k <k0<Il <l0OO
d=d(v,ky,ly;5,i—1)
+d(Vria, (i), k — ki, lo — 1 — 1)
F = F(v,ky,ly;5,i—1)
UF(Vx(d, j)6), k — k1,00 — 11 — 1)
2) ky =k, =0,000
O d=d(v,ky,ly;7,i—1)
+d(V(a, 100 k = ki lo — 1) + [Ty
F = F(v, ki, ly;5,1—1)

7[dv,51(4)

w[dy,51(%)

w[dy,5](2)

0 410: D00ooDoOoooobobobuoooboobogo
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OO0 5 000000000000 7T0OT'0D00000007T"00 »0O07T'00 0000
0000000070000 «000dd,00:< k00000000000 TMUuT"OO
00000000000 T7T000000o0oooooooooo IMooooooooood
0700000000000 0oooooo

000 TUT000000000 FOOOOT'UT'0000000F0 7'000000
O0FOD 70000000000 (413)000F0 7'0000000000000000
00FO0 7'0000000000V(F)=V(F)NV(I")0O0OO000 FOO0OF" =F/F
OD000F=FUF'0000FOTO00000C0F'0T"00000000000 (4.12)
O00FOT000000000000F0 7T"0000000000000000000
1

000005000000 7000000000000000007uT"000000
00000000 7"000000000000000000 7T"uT’'000000 7700
00000000000O07000000 FOT'0000000 F/Oo7T'uT’00000
0 FOOOOOOOOOOOOO

F =none (F' =none)]

(4.20)
F=F (F" = none)O

gooooooad
2000000000000000 F(v,k,lo;7,4) 0000 d(v, k,lo;5,9) 0000000
oo
F(v,0,0;4,¢) =v0
d(v,0,0;4,7) = 00 (4.21)
F(v,k,lo; j,i) = noneld
d(v,k,lo;j,i) =00 (k>0 o0rly>0)0
O00d000k=00,=00000000000000O
godovddoououooouoooououoooao

00 10000.0000 TWE) 00000000 F(u,k,le:j,i) 000 41000000
0O0O00o0O0oooog
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Facility for subtree T (1):F(v,k,1 ,j,1)=F(v ,k ,1 )
\% 0

Facility for subtree T (3):F(v,k,lI ;j,3)=F(v,k ,
v 0 22 3

U411 000ooogooooo

000000 T(:) 00000000 F(u,k 7,49 0000 50000 411000000
zbbooooboooooodoobde.=100000000 T, , 00000000
gbobboodgbobyogdbbboobooogabon

F(’l), ]f, lo;j, 7,) = F(Uﬂ-[dv,j](l), ]{71, ll) Uod (422)

000kOLO kOLODODODOOO0OO0O000 410000000 1.03.0000000000
0oo
i>100000000 (1)(2)000000000

(VOO0 T6E-1)0D0000000 Fv,k,l;j,i—1)0
(2) 000 T{(:—1)00000000 F(v,ky,l;5,¢-1)0000T,, 0000
D D D D D F(’Uﬂ-[dv’]’}(i), kz,lz) D D D D

O00kDOKROLOLD £kOL,L00000000000000L0 L,OLOODODOOO
gobd
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gobUd:>10000bbooooobn

F(Uakvl();jai) =
F(’U,]{J,lg,],l—l) (4 23)
or

F(U7 kl: 117.77Z - 1) U F(vw[dv7j](i)7k2712)|:|

0000L <,000,L,=000000010>000000000000 (b)000k <k
000L<,00000000000 i0k0L,0000KO0LO0000 410000000
0000000000000000:>10k=000000 410000 60000000
k,b=0000<},<,00,+1000000000000 FOOOOOO4OOOOO
0 FOO0D0O0000 F(v,k,ly;j,4) 0000y

00 200 ¢00000000000O0alogn/loglogn 00000000 7,00000
oooboodoood F00000000000 O(ntleec)3YOOOOOOOO0O

000 F(v,k,ly;5,4) 0000000 0000000000000 w000 2-10000
k0 ,00000000(t+1)-!<2n00007[d,,j]00000000|x[d,]] < nxi+lesa)
00000000000000000 OrHee+2)0 0000000 410000000
000 f00004d00(1)0000000000000000000000000000
0000 (k+1)-'<2,00000000000 F(v,k,lo;5,i) 0 O(r) 00000000
00000000 F(v,k,lo;j,i) 0 O(n*tHles ) DD OD OO OO0

0000F(v,k ) 00000000000 O(R*) 000000 4000 F(v,k,l) D
O(neitlee) 000000000000 Fv, ko) O OretHles)+2y 00000000
0000000 F(v,k,ly 5,90 F(v,kl,) 00000000000000000000O0
00000000 F,,0 O(ne+esa+3) 000000000,

4.3.3.5 Uooboooooagoon

b 1iobbogggouoboogoooboobbbbooooooobbon 412
0oooo000000o0ooo0oooo0o0o0 7,00000000000 |7,|]000000
O00«f¢,j]000000C0000O0OCOO0O0OOOOO0OOOOOOOOOOOOOOOO
gbobboogbboboodagd

OobOo0OT7T000000000000000000 Fop =mone 000
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ooo0 oTrooooboomwmooot
OO0 00000000000 Fop

1. 000
0o quuoonooono 7,00
0000000 |7,] 00
00000, 00000
2.000
S={7,00000000000.,000000
O000 0000000000 }
while S # ¢ {
Osoooooog-0oo0onoa
for j =1 to |r[d,]|
O forz:=1to d,
O fork=0tot
Oforlpg=0tol' —1
O d(v, k, lo; §,i) 00O
F(v,k,lo;7,i) 000
fork=0top
Oforlpg=0tol' —1
O F(v,k,lo)Od(v, k,lo) OO O
}
Fope = F(q,p,0)

U412 000000 00uboboougoboobobuoooobbuoooobooobo
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gbobobobooobbboooobi1bbboboodgo

00 1 0000000alogn/loglogn00000000000000000000O0
0000000 F,,000(rxtHes)3y00o00000on

000000000000 43300000000000000020000000000
0000 O(nttleex)t3y 000 Oy

0000000 logn/loglogn 0000000« =1000000000000000
000 Oo(»)0D00O0

4.3.4 00O

000000000000000000000000000000000000000
0000000000000000000000000000D0000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
OO0alogn/loglogn 00 00000000000000 O(netlee+3)gooo0on
000000000000 0000000000000000000000000000
00000000000 0000000000D0000000000000000000
D0000000000000

4.4 O0O0O0O0O0O0OOOOOOOOOO

0000000020000 O(ogn/loglogn) 00000000000 ODOOODOOO
oobooobooooboobooobbooboooboooboooobboboobobo oo
Upbbb0000bbuoooobbbbooobobobouoobboooobboo
gobbobodbboboooobbooobbbouooobobuoooaooboobo
gobobobdlgggoobboobbbobbobbooooobobobuooooobobooo
gbobboodbooobobodobbodan

gboboggbbooobbbbboobobooobbooobbooobboobboan
gbdgouoogbbogobboogbbbobobooobbooobbuooboogobo
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(d

NN

U413 000000 0o0oboboooon

gbbobobodabbbuoooobbooooboboobobbobboooobbbbo
gboboboogbbbbuooooobooago

gbbboboodboobuboobbuooobbbuoooboobobobbbao
gbogbboodgobbbuogoobbooooboboboobbobooogbbboo
goobobogbobboooobbuoooobobuooobbbooooboboboon
gboboboodgbbbbodagoagan

4.4.1 UO0O0O0O0OOOOOOOOOOO
4.4.1.1 0OO0O

00000000000 70000000 7000000 V(T)OOOOO E(T) 00
0007000 (v,w) € E(T)00200 vOw e V(T)DD0O d(v,w) 000000000
000000000000000000000000 dv,w)0 100000 70000
07000000 70000 |7|0000600 70000000000 770000
T'O0OV(T") c V(IOE(T) c E(I")000000000000 v0000000%0
D00V(Y) ={v}0E([®)=¢0000

00000000000000000000000000 S007000000000
0 S0000MO0000000000000000000000000 10000001
0000000 |ES)| 00000000 FOOpOO0D0O0000000 S04=1,...,p0
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Q=

(a) Optimal facility. (b) Optimal facilities.

U 414: 0000000

goooodooodooo
F= {51,52,...,Sp} (424)

04130 0000000000000000000000000000 FOOOOO 30
40000 §,08,0808,0000000

4.4.1.2 000000

0000000000000 00000000000000000000200 vO0wd
000 d(v,w) 0000 v0wD0O00 (00)00000000000000 +000 SO
000 d(v,5) 0000 SO00000

d(v,S) = min_d(v,w)0 4.25
(v, ) = min_ d(v,w) (4.25)

000000 SO000dsS)00sSo 7000« 0000o0oooooooooooon

dS)= Y dfv,5)0 (4.26)
veV(T)
0000 FOOOOOOO D(F)ODO000O0O0 FOOODDOOODOODOOOODOODOOOOO
oo0ooon

D(F) = Y d(S:) (4:27)

S;eF
0414,)0000000000C0O00O00OO0OOOO0OOOOO SOUODOOO!=30
00000000 SO00000o0010200000040601 000000 (4.26)000
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00 Ss00000 4(S)=8000000000000300000000000000
414(b)00000000000000000000000000000 FOOOO S,08,
0000000000000000 d(S;)=90d(S,)=1300000 (427)000000
0 FOOOOOOOO D(F)=22000000000000000000003000 2
000000000000000000000

4.4.1.3 U00O0OO0ODOOOO

00000000000 p(F) 00000000 DODOODOODUODDOODODDOOODDOOOD
HakimiO 370 0000000000000 0O0O0O0OO0OOOOOOOO0OODOOO
gobboodgobbbuooouobbtooooobboooobbobooooobboo
0000000000000 0000O000O0000D 414b) 000 w0 0000000
Ooboobooooooobobooendb SyusS,00000obooobooobooon
gboboggbobuogbobbdubbootbooouooouooobboobobooobbo
oboboboo400000b0DbbOOobDOObObDOO SO0 b00b000o0oboooobog
gobbog200bbogogobobbooobooboboogobooogoboao
gboobboodgbbboooobboooooooboooobobobooooobboooo
gobbooaobbobobobbboooobbbbooobobbbuoooobobbo
0000000000000 000O00O0O00O0OO0ODOO0OOOO0OO D(F)OO
oboooboooo Frgogon

goobboodgobobbooooobobooboobobooobobobbuoooooboboon
00000000 414(a) 000 SOOD0DO0O0000O0O0O0O0OO0O0O0OO 16000000
000 414b) 00000 FOOOOUOOOO 20000000000000000000
gbobobobbobobuooobbuoooobobbouooobbobooodgboboao
goboboodgobbbbooobooooooboboooobon

obhoooboobobbobborTrTooobobbbOoimobbooUu poobbooD
Ooooodoooooodooboodoooooon F,di0b0000o0oo0o0aood
000000070 0000000Oalogn/loglogn J0000000000eO0OOO
god
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4.4.2 00000
4.4.2.1 00O

O070000median0¢0 0000 d(v) 00000000 »00007T00000 ¢00O0
OrootOD0 000000 7,00000 4150 7, 00000000 v000000O0 4,00
00000 01 < <4, 000000000000000 OO0 centroid
00000000¢00000TOOO0OO0OOO0OO |T)/200000000000000
(B0000000000 000000000000

d, <A = alogn/loglognO (4.28)

0700000000000000DOO0O0ODOMO0O0O0O0eeE(T)DOOOOOOO
oboobobobooobobobbon s, s.0oooooos,bo s;gbbogegnod
gobooad

Oo00oooOo7TuT"0ooo0oDooooDoo

V(T'uT") = V(T") U V(T")O

(4.29)
E(T"UT") = Uy wevrur,wwermi (v, w)} 0
O0o0ooooooo T™/rooooog
V(T'/T") = V(T")/V(T")O
(117 = V() V() )

E(T'/T") = Uv,wEV(T’/T”),(v,w)eE(T){(va w) 0

gboooogo

0007000 »007,00 00000000000 V(I")ODOoOOoooooooo
0077000000000 7T'0000reet(T"YDO0OOODOOOO»OODOOOOOOO
oooor,boodg

oo s0:=1,.,p 00000000000 FFOOOOOOOO

FI = {S]_,SQ,...,SP}D (431)

0000 FFOOOOO F'O00 F[9)+ F"[S"|0000000000000 S e F'O
S"eF'00O000

PIS] + F'[S"] = (F'/{5'}) U (F"/{5"}) U{S' U §"}0 (4:32)
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u
W

root(T")
root(T"")

\\":]:1 U TH

s,
*,
N\,
e,

0 415: 0000 ¢0O0O0O0O0 T,

O000 FOOO0OO00 0000000 Ne(v)DO e00O000000O Be(e)OO
googon
Npi(v) = |{Si|lv € V(S,),5: € F'}|O
Brpi(e) = [{Si|le € E(S;), S; € F'}|O
D00002.000000 00000 (v,¢)0000000 Bp((v,v'))00Bm(v)00
O00000000Br(gq)=00000
0700000000000000000 7T'0;5=1,2,.000000000V(T")=
UV(THOE(T") = y;BE(TY) 0000000000 T"0000000000 790 7700
goodo
0000 FFOOODOOOD (00 GRO01<i<b00000000000

(4.33)

B(G) = {elBr(e) > i}0

| . (4.34)
V(Ge) = {v|(v,u) € BE(Gw)}0

ObO0:<00000 G%,DDDDDDG’@DDDDDDDDDDDDDDD
0000 FOOOOOOO ;00 GO00000000:00F 0000 MepOOOO
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gooobodgboboogdd

Mp =i

. | (4.35)
where E(G'4') = ¢ and E(G%) # ¢0

O000Gw =¢0000Mp=00000
0000 FOOFODOOO S;,00000000007T000 0000000 Be(e)
O7ooboboosbibObbObOOObObOOObObDDObDODODbO

|E(S;)| =1 forall S; € FO

(4.36)
Br(e) < bforall e € E(T)O
ooooboob FOO0OL0O0DLO0 poobOoOobOo0OOg
p<b(n-1)/10 (4.37)
000 700000 GOOOD JT;G)0000o0ooon
dT;G)= Y dv,G) (4.38)

veV(T")

O000dv,G)OODOD GOOO0OOOOW00O0O0DOOODOODODOD

000000 7o0o0000o0 FPOOOOUOD DT F)YODOT'OD0O0O0O F'ooOoo
;00 GR0000007T,0000000!0D0D0O0DO0OOLODODOOOOODOOOOO
gogboooobon

D(T'; F'y = M8 d(T', G)) + Yo, ems; 21 d(root(S;))0 (4.39)
O700000b80 1DDDDD(T’;F’)DDDDDDDDD
D(T'; F') = d(T";Us,epr S5) + Ts e 5,121 d(r00t(S5)) 0 (4.40)

4.4.2.2 OJ00O0O0O0ODO

gobododoggroggoooooood FoOorgod uooooood 7,0
gbboboogbodgboagadgan

00 6 07,0000 +0.00000/0000000+/00000000000000
00 FOOOODOO (v,)) 0000000 Be(v) <Bp(v) 0000
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00000 +00000Bp(v)>Bp(r)OOODODODO0DO0O0000 /0000000 SO
0000000 weV(S)DO7,0000000w0000000 w0 w ¢ V(S)000
00000000 §=5uU%/a000000 400000 |T,|<|T,| <|T|-|T,)000
000d(S")=d(S)—(|T| - |T,|))+|T.| < d($)D0DD0OD0D0 F'=Fu{s}/{s}00000
D000FO000000000d(F)<dF)0000F000000000000,

0060000000000 FOOOO0DOD0D:i00GO1<i<e0000000000
0000060000000000 G000 400000
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Weight of vertex
Length of edge
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Distance of u and v = 60 Distance of u and v = 40
Distance of w and v = 20 Distance of w and v = 20

(a) Network 7. (b) Network Tr generated from facility F.
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Weight of vertex
Length of edge
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Constraction cost of F = 60 Constraction cost of F = 60
Communication cost Communication cost
between u and v = 40 between u and v = 30
. — Constraction cost

(a) Usual facility location. (b) Practical facility location.
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